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The following table shows the total number of beds in each hospital in bracket and the
number of patient admitted at different hospitals for a disease on a particular day. Based on

the data mn the table, answer the questions 1-5:

-

Hospital Hospital | Hospital | Hospital | Hospital
A B C D
Diseaseax (100) (50) (100) (50)
Viral disease 30 15 35 10
Heart disease 35 10 30 10
Kidney disease 15 5 15 5
Liver disease 10 5 b 15

Sub questions

Question Number : 1 Question Id : 5362283159 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which disease occuples highest number of beds in all the hospitals?

(1) Heart Disease
(3) Kidney Disease
Options :

53622812301. 1
53622812302. 2
53622812303. 3
53622812304. 4

Question Number : 2 Question Id : 5362283160 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2)
(4)

What 1s the total percentage of unutilized beds?

(1) 19.44%
(3) 16.66%
Options :

53622812305. 1
53622812306. 2
53622812307. 3
53622812308. 4

Question Number : 3 Question Id : 5362283161 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of Liver disease patient admitted in all the hospitals from the total

patients admitted?

15%

13%

(1)
(3)

(2)
(4)

(2)
(4)

Viral Disease

Liver Disease

17.66%
15.44%




Options :

53622812309. 1
53622812310. 2
53622812311.3
53622812312. 4

Question Number : 4 Question Id : 5362283162 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of patient admitted for viral disease to kidney disease?

1 9:4 2 7:4
(3) 8:3 (4) 10:4
Options :

53622812313. 1
53622812314. 2
53622812315.3
53622812316. 4

Question Number : 5 Question Id : 5362283163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the ratio of total patients admitted to Hospital A to Hospital B?

(1) 19:7 ) I17:7
(3) 1827 4y 7:17
Options :

53622812317. 1
53622812318.2
53622812319. 3
53622812320. 4

Question Id : 5362283158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362283159 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812301. 1
53622812302. 2
53622812303. 3
53622812304. 4

Question Number : 2 Question Id : 5362283160 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tt ST | T T wide T e 2

(1)  19.44% (2)
(3)  16.66% (4)

17.66%
15.44%

Options :

53622812305. 1
53622812306. 2
53622812307. 3
53622812308. 4

Question Number : 3 Question Id : 5362283161 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) 15% (2) 16%
(3) 13% (4) 14%
Options :

53622812309. 1
53622812310. 2
53622812311.3
53622812312. 4

Question Number : 4 Question Id : 5362283162 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faaTorsa T # dited WAt A 3 R T ° dited WAt TR T S oA

(1) 9:4 (2)y 7:4
(3) &:3 (4) 10:4
Options :

53622812313. 1
53622812314. 2
53622812315. 3
53622812316. 4

Question Number : 5 Question Id : 5362283163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T A R AFIAT B A A1 B U0 H AT TR Y

(1) 19:7 2y 17:7
(3) 18:7 4 T7:17
Options :

53622812317. 1
53622812318.2
53622812319. 3
53622812320. 4

Sub-Section Number : 2
Sub-Section Id : 536228126
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362283164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1= the focus of concern 1n understanding level teaching?

(1) Promotion of scope for seeking of relationship among facts and ideas.
(2) Encouraging recall and recognition of facts and information.
(3) Raising of problems and seeing zclutions to problems so presented.
(4) Developing a sense of happiness and ownership in learning.

Options :

53622812321. 1
53622812322.2
53622812323.3
53622812324. 4

Question Number : 6 Question Id : 5362283164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812321. 1

53622812322. 2

53622812323. 3
53622812324. 4

Question Number : 7 Question Id : 5362283165 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following emotional characteristics are of crucial significance in adolescent
learning?
(1) Feeling of group belongingnes
(D Hero-worship and sentiments
(3) Expanding emotional ties with those in the neighbourhood
(4) Dependence processes and making friends
Options :
53622812325. 1
53622812326. 2

53622812327. 3
53622812328. 4

Question Number : 7 Question Id : 5362283165 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622812325. 1
53622812326. 2

53622812327. 3
53622812328. 4

Question Number : 8 Question Id : 5362283166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During teaching when a teacher uses process questions which of the following types will
have dominance?

(A) Direct questions

(B) Higher order questions

(C) Convergent gquestions

(D) Indirect questions

(E) Concept based questions

Choose the correct answer from the options given below :

(1 (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (C). (D) and (E) only (4) (B). (D) and (E) only
Options :

53622812329. 1
53622812330. 2
53622812331. 3
53622812332. 4

Question Number : 8 Question Id : 5362283166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1T 6 S WS BT AR R 9T R WAT HAl B oAl feieriad § W A4 TR % U9 6
T BRI ¢

(A) Traa] ue

(B) T== ®H % U

(C) =i w4

(D)  #ATEE T

(E)  TaeuAT ATETRg U9

#2216 @ T S "

() 3= (A). (B) =i (C) (2) == (B), (C) =7 (D)
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Options :

53622812329. 1
53622812330. 2
53622812331. 3
53622812332. 4

Question Number : 9 Question Id : 5362283167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Tutorials, group discussions and guestion-answer sessions are dialogic and

are part of direct teaching methods.

Statement IT : Project work, Laboratory work, simulation and role playing are action based

and are part of indirect teaching methods.

In the light of the above statements, choose the most appropriate answer from the options

ziven below :

(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1s correct but Statement I is incorrect

(4) Statement I 1s incorrect but Statement II 1= correct

Options :



53622812333. 1
53622812334.2
53622812335. 3
53622812336. 4

Question Number : 9 Question Id : 5362283167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812333. 1
53622812334.2
53622812335.3
53622812336. 4

Question Number : 10 Question Id : 5362283168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Maximum performance tests are designed to assess the upper limits of the
examinee's knowledge and abilities.

Statement IT: Typical response tests are designed to measure the behaviour and
characteristics of examinees.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

53622812337. 1
53622812338. 2
53622812339. 3
53622812340. 4

Question Number : 10 Question Id : 5362283168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812337. 1
53622812338. 2
53622812339.3
53622812340. 4



Question Number : 11 Question Id : 5362283169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following methods 13 used 1n empirical researches?

(1) Inductive method (2) Deductive method
(3) Initiative method (4) Secientific method
Options :

53622812341. 1
53622812342.2
53622812343. 3
53622812344. 4

Question Number : 11 Question Id : 5362283169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
steamaya oy | f=feiea | o #Fm-d fafy w0 o= w2

D e fafg (2) T fafa
(3) ¥ wETeRS A (4) A=l fafa
Options :

53622812341. 1
53622812342.2
53622812343. 3
53622812344. 4

Question Number : 12 Question Id : 5362283170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When the independent variable 1s explored rather than mampulated. to obzerve the effect on
dependent variable. the method of research 1s called.

(1) Ex-post facto method (2) Experimental method
(3) Case study method (4) Descriptive survey method
Options :

53622812345. 1
53622812346. 2
53622812347. 3
53622812348. 4

Question Number : 12 Question Id : 5362283170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812345. 1
53622812346. 2
53622812347.3
53622812348. 4

Question Number : 13 Question Id : 5362283171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the qualitative research characteristics from the following :
(A) Exploring a problem and developing a detailled understanding of a central
phenomenon.
(B) Having the literature review play a minor role but justifying the problem.
(C) Describing a research problem through a description of trends.

(D)  Collecting numeric data from a large number of people using Instruments with
present questions.

(E) Collecting data based on words from a small number of individuals.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (A). (B) and (E) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

53622812349. 1
53622812350. 2
53622812351. 3
53622812352. 4

Question Number : 13 Question Id : 5362283171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812349. 1
53622812350. 2
53622812351. 3
53622812352. 4

Question Number : 14 Question Id : 5362283172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the probability sampling procedures from the following :
(A) Quota sampling

(B) Stratified sampling

(C) Dimensional sampling

(D) Cluster sampling

(E) Systematic sampling

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (Z2) (B).(C)and (D) only
(3)  (B). (D) and (E) only (4) (C). (D) and (E) only
Options :

53622812353. 1
53622812354. 2



53622812355. 3
53622812356. 4

Question Number : 14 Question Id : 5362283172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812353. 1
53622812354.2
53622812355.3
53622812356. 4

Question Number : 15 Question Id : 5362283173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In research. ‘Null hypothesis’ when rejected. offers the scope for accepting

the alternative or substantive research hypothesis.

Statement II : When the Null hypothesis 1s rejected. there will be chances for committing
‘Beta’ rather than ‘Alpha’ error.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

536228123571
53622812358. 2
53622812359. 3
53622812360. 4

Question Number : 15 Question Id : 5362283173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812357. 1
53622812358. 2
53622812359. 3
53622812360. 4

Question Number : 16 Question Id : 5362283174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The entry of new media has made online learning :

(1) Secondary source based (2) Dependent on personal sources

(3) Institution-centric (4) Independent

Options :

53622812361. 1
53622812362.2
53622812363.3
53622812364. 4

Question Number : 16 Question Id : 5362283174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812361.1
53622812362.2
53622812363. 3
53622812364. 4

Question Number : 17 Question Id : 5362283175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Removal of communication barriers in a classroom will result in
(A) Clear enunciation of specific instructional behaviours

(B) A climate of purposeful student interaction.

(C) Promotion of personality cult.

(D) The irrelevance of 1llustrative examples.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A) and (D) only
Options :

53622812365. 1
53622812366. 2
53622812367. 3
53622812368. 4

Question Number : 17 Question Id : 5362283175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812365. 1
53622812366. 2
53622812367. 3
53622812368. 4

Question Number : 18 Question Id : 5362283176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :
Assertion (A):  Repeating more and more the same message will make 1t 1important.
Reasons (R) : ‘Don’t use two words when one will do’ 1s the guiding prineiple that works.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct
Options :



53622812369. 1
53622812370. 2
53622812371. 3
53622812372. 4

Question Number : 18 Question Id : 5362283176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

H 21w fou w2 foe | v o stawee (A) S5 g T (R) FE

AfaFE (A) UF I WY B GH-AW AETAT IH AEed g9 S |

7 (R) : ‘Se U vmE H A W 99 A0 Al 21 IES] W WA A, T UF qeieEl Had B, A
TR B

SYHFE HUAT F ATH °H G (Aol 6 H waig 3ugeE 3 9

(1) (A) 311 (R) =1 =71 7 A1 (R). (A) F1 w21 =amegn 7 |
(2)  (A) = (R) A TE F WA (R). (A) T = 965 7
(3) (A) =F 7 i (R) =& 77 7 |

@ (AT A 2 T ®) T A

Options :

53622812369. 1
53622812370. 2
53622812371. 3
53622812372. 4

Question Number : 19 Question Id : 5362283177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of phases 1n communication development :

(A) Acta Diurna

(B) Cave paintings

(C) Wooden blocks for printing
(D) Development of languages

(E) Metal printing

Choose the correct answer from the options given below :

(L (A). B). (D). (C). (E) (2) (B (D). (C). (A). (E)
(3) (C). (D). (E), (A). (B) 4y (D), (E), (A). (B), (C)
Options :

53622812373. 1
53622812374.2
53622812375. 3
53622812376. 4

Question Number : 19 Question Id : 5362283177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A (B). D), (C). (E) (2) (B). (D). (C). (A). (E)
(3)  (©). (D). (E). (A). (B) (4) (D). (E). (A). (B). (C)
Options :

53622812373. 1
53622812374.2
53622812375. 3
53622812376. 4

Question Number : 20 Question Id : 5362283178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
(Mode of Communication) (Type of communication)
(A One—to—one (I) Network (transactional)
(B) One—to—many (I} Intra-personal
(C) Many— to— many (III) Inter-personal
(D) One - to—none (IV) Mass Communication especially print

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(1I). (C)-(I11L). (D)-(IV)
(2) (A)-(1D). (B)-(III). (CO)-(IV). (D)-(D)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
@ (A)-aV), B)-@). (C)-AD. (D)-II)

Options :

53622812377. 1

53622812378. 2

53622812379. 3
53622812380. 4

Question Number : 20 Question Id : 5362283178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tei-1 =i G-I & qafe i
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(C) =% 37 F3 = &= (IID) =A==t
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S e s e e
(1) (A)-(I). (B)-(II). (C)-(III), (D)-(IV)
(2) (A)-(IT). (B)-(III), (C)-(IV). (D)-(I)
(3) (A)-(III). (B)-(IV). (C)-(D). (D)-(II)
(4) (A)-(IV), (B)-(I). (C)-(I). (D)-(I1D)

Options :

53622812377. 1

53622812378. 2
53622812379. 3



53622812380. 4

Question Number : 21 Question Id : 5362283179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the actual profit when the profit on selling price is 25%?

(1) 33.33% (2) 30.33%
(3) 2b% (4) 20%
Options :

53622812381.1
53622812382.2
53622812383. 3
53622812384. 4

Question Number : 21 Question Id : 5362283179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If3 Tk gea W =Y 25% 7 A7 ARt A F947 ' 7

(1) 33.33% (2) 30.33%
(3) 2b% (4) 20%
Options :

53622812381.1
53622812382.2
53622812383. 3
53622812384. 4

Question Number : 22 Question Id : 5362283180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the remainder when 4% 1s divided by 157

(1 4 2 5
(3} 8 4y 11
Options :

53622812385. 1
53622812386. 2
53622812387. 3
53622812388. 4

Question Number : 22 Question Id : 5362283180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



451 159 fagqif=a =94 W 9% 597 T 7

(1) 4 (2y 5
(3) 8 4 11
Options :

53622812385. 1
53622812386. 2
53622812387. 3
53622812388. 4

Question Number : 23 Question Id : 5362283181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the missing number?

4, 8. 16, (7), 64, —128

(1) —24 (2) -—-32
(3) 24 (4) 30
Options :

53622812389. 1
53622812390. 2
53622812391. 3
53622812392. 4

Question Number : 23 Question Id : 5362283181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FTiRa | woa v s (7) % E9H W HE H@ w7
4, —8. 16, (7). 64, —128

(1) —24 (2) -32
(3) 24 (40 30
Options :

53622812389. 1
53622812390. 2
53622812391. 3
53622812392. 4

Question Number : 24 Question Id : 5362283182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Sometimes. Ratio has units.
Statement II : When two ratios are equal, a proportion is formed.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2 Both Statement I and Statement II are false

(3) Statement I 1= correct but Statement IT is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

53622812393. 1
53622812394. 2
53622812395. 3
53622812396. 4

Question Number : 24 Question Id : 5362283182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 3w fm e 3

FeF () :  Fefi-Tft s i s we f

Ho (D) : =79 3 9T S A 3, A1 U A i 2 E
ST FUA F WA e e § H = I 9

(1) = IsrmII=zA &7 |

(2) =y I3tk I =4 =E 2 |

(3)  wyA I=ea 2 Trg e 1177 7 |
(4) w9 I 5w = g o w7 7 |
Options :

53622812393. 1

53622812394. 2

53622812395. 3
53622812396. 4

Question Number : 25 Question Id : 5362283183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Co-primes are the numbers which have only 1 as their common factor.

Statement Il : Factorization 1s the decomposition of a number into the other numbers which

when added together will zive the original number.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

53622812397. 1
53622812398. 2
53622812399. 3
53622812400. 4

Question Number : 25 Question Id : 5362283183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fRIaFmA BT
FoH (1) : Te-AYST TEAT 7 T S99 TEEE O 1 EE E

Fo (1) : ToEs F F U § R e R w9 e 8 fEitaa e o 2 T ow om

i T HE HEA W w7
dq-_':]_r_'*—fﬂ r-ﬁsﬂ:ﬁ' =+ A ;I-._?‘ T FeleRg ot T J:[ qq—;ﬁ et —E;r .

(1)  =a I afi I 3T =9 7 |

(2 A I3 I 31 e 2 |

(3) FF 17 ? g T 7oA 2 |
(4) YA I wE 7 g v a2
Options :

53622812397. 1

53622812398. 2

53622812399. 3
53622812400. 4

Question Number : 26 Question Id : 5362283184 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In terms of the relationship indicated below. which word will correctly pair to replace the
questions mark?

Worse : Bad :: Doting :

(1) Reverence (Z) Fond
(3) Hate (4) Dishke
Options :

53622812401. 1
53622812402. 2
53622812403. 3
53622812404. 4

Question Number : 26 Question Id : 5362283184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
F= fau M gEw i 2z 9 o A e F e W w0 s e = 9 g aem e

S LG B LU AU "P'-."E

(1 = (2) =
(3) g (4)
Options :

53622812401. 1
53622812402. 2
53622812403. 3
53622812404. 4

Question Number : 27 Question Id : 5362283185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below 1s a proposition :

‘The weather 1s very cold today’.

Which one of the following. according to Nvava. 1s the correct option?
(A) Samanya lakshana

(B) Yogaja

({C) Jnanalakshana

(D) Sannikarsha

Choose the most appropriate answer from the options given below :

(1)  (A)only () (B) only
(3) (C) only (4) (D) only

Options :



53622812405. 1
53622812406. 2
53622812407. 3
53622812408. 4

Question Number : 27 Question Id : 5362283185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T Hiow wgA 3u 2 1
T W SIEN SHT 90 34 B eieiad 8 8 A @ w2 7

(A)  THETF =&

(B) A

(C) == =&

(D)  =f==

= fo m fawewt @ wd 3w 9

() =4 A) (2) == (B)
(3) F&= (O) @) F== (D)
Options :

53622812405. 1
53622812406. 2
53622812407. 3
53622812408. 4

Question Number : 28 Question Id : 5362283186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange 1n sequence the following theory of causality in Aristotle’s philosophy :
(A) Material cause
(B) Efficient cause

(C) Formal cause
(D) Final cause

Choose the correct answer from the options given below :

(1) (A). (C), (B). (D) (2) (A). (D). (B). (C)
(3)  (C).(B). (A). (D) (4) (A (B). (C). (D)
Options :

53622812409. 1
53622812410. 2
53622812411.3
53622812412. 4

Question Number : 28 Question Id : 5362283186 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A)  Hifds Hrm
(B) T
(C)  HATRITE FHOT

(D)  =fge =HEm

St o T e @ WA T

(1) (A (C). (B). (D) (2) (A). D). B).(C)
(3)  (C). (B). (A). (D) (4) (A). (B). (C). (D)
Options :

53622812409. 1
53622812410. 2
53622812411.3
53622812412. 4

Question Number : 29 Question Id : 5362283187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Some examinations are too long.
Some examinations are too difficult.

Therefore, some examinations are too long and too difficult.

Statement II : Some dogs chase cats.
All dogs have fleas.

Therefore. some cat-chasing dogs have fleas.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT is false
(4) Statement I is incorrect but Statement IT 1s true
Options :

53622812413. 1
53622812414. 2
53622812415.3
53622812416. 4



Question Number : 29 Question Id : 5362283187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hr= 21 Fo= few w2

FoH () : 9 T 57 = w6l A
FF WA F5d i w7 |

Fe (ID) : 9 Fed fafeerat = dir =4 2 |
Tl el | ooy 7 7 |

3T:, fafeerl 1 WS T I F9 Fedl 0 (0 A E

SYSFA FYA F A ° ARG (e § @ HE I3 =

(1) =+ IR IEA "8 7 |
(2) IR =M e 7 |
(8) v 153 % T %o 11T 2 |

4) w1 3m 2 g 5 Mo 2|

Options :

53622812413. 1
53622812414. 2
53622812415.3
53622812416. 4

Question Number : 30 Question Id : 5362283188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Human reason has this peculiar fate that it reaches at a stage when 1t can
neither answer certain questions nor can it ignore such guestions.

Statement IT: Human reason. by its own nature., 1= not competent to resolve certain
questions concerning the ultimate reality.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement I 1s incorrect
(4) Statement I 1s incorrect but Statement IT 1= correct
Options :

53622812417. 1
53622812418. 2
53622812419.3
53622812420. 4

Question Number : 30 Question Id : 5362283188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

4= = FeE Br T E

w94 (I): THa 9 %1 98 g0 7 76 98 UH £yl § 959 S & 99 9% Ha9g 99 H A 97 30 3
TAT 7 AN A I A GHAT 7

#o (1) : =9 7% 99 T =08 F4Y H TEiGa B9 T mel B § 9489 T OF |
ST FAT F A ° G Aol 8 1 Haitas 39ged 5 9

(1) = IR =9 T8 2 |

(2) A 11 =41 =t 781 & |

(3) = 7, g wem Il wet 751 2 |
(4) TE T8 7 Tha Fe ILEFT 7 |
Options :

53622812417. 1

53622812418.2

53622812419. 3
53622812420. 4

Question Number : 31 Question Id : 5362283189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



MOODLE 1= abbreviation of

(1) Modular Object-Onented Distance Learning Environment
(2) Modular Object-Oriented Dynamic Learning Environment
(3) Modular Object-Oriented Distance Legislative Environment
(4) Modular Object-Oriented Diatance Legal Environment

Options :

53622812421. 1

53622812422, 2

53622812423. 3
53622812424. 4

Question Number : 31 Question Id : 5362283189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MOODLE f=feifgd 7 & fowmeh A am 27

(1)  Hisgen SAisdgz-#Auzs 5= afHT v=EEne
(2)  HISHTR ATSHF-HANULS SEATHE ST T=ETH0e

(4)  HIEIR AlsAge-Azs e ore v
Options :

53622812421. 1

53622812422.2

53622812423. 3

53622812424. 4

Question Number : 32 Question Id : 5362283190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Extra browser window of commercials that open automatically on browsing web pages 1s

called

(1) Spam () Virus
(3) Phishing (4) Pop-up
Options :

53622812425. 1
53622812426. 2
53622812427. 3
53622812428. 4

Question Number : 32 Question Id : 5362283190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

FERTEEH 1 AR FTIAE TGS, T 99 T FIEE A T =9 Gedi 8, T Faedl 2

() #m (2) =
(3)  THREM (4) TiI-39
Options :

53622812425. 1
53622812426. 2
53622812427. 3
53622812428. 4

Question Number : 33 Question Id : 5362283191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : World Wide Web 1s not an example of client-server technology.

Statement IT: FTP is a service available on the internet.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(4 Statement I 1s incorrect but Statement II 1s true
Options :

53622812429. 1
53622812430. 2
53622812431. 3
53622812432. 4

Question Number : 33 Question Id : 5362283191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



/= 21 FYE B E

w4 (I):  Tvs 915s 99 ToEZ-—HaT SHATIA] F 2250 TRl 7 |

Fu (II): TF 31 11 22342 T I0eey U TaT E |

SYHF A F AT J IR e § ¥ HE 3 A
() w9 I3 [ EA 59 7 |

(2)  F 1R 2 7o 2 |

(3  wwA 1w 2 g w9 1L 7 |

4) = I wEe 2 g e a0 7

Options :

53622812429. 1
53622812430. 2
53622812431.3
53622812432. 4

Question Number : 34 Question Id : 5362283192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s/are true?

(A) Fibre optic cables are wooden fibres to provide high quality transmission.

(B) Wireless communication provides anviime. anvwhere connection to both computers
and telephones.

(C) Mobile phones are capable of providing wvolce communication and also digital
IMessaging service.

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (B) and (C) only
(3) (A) and (B) only {(4) (C)only
Options :

53622812433. 1
53622812434. 2
53622812435.3
53622812436. 4

Question Number : 34 Question Id : 5362283192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Feafefias 3 7 /4 s wd 2/E7

(A)  FIEER AT FEed T=9 AUET T ITeEd FH F A

(B) P TR FoE ok SER I F e o w oo B o T W A e
AT 2 | s 3T

(C)  FMTEa B AE FEMEIE i (2o Aut 9fag 3m1 i g T8E w0 5 95 F

e T3 w1 fawew = v = 9

(1) ==+ (A) 3 (C) (2) A= (B) #W (O)
(3) A« (A) 3R (B) (4) == (C)
Options :

53622812433. 1
53622812434. 2
53622812435. 3
53622812436. 4

Question Number : 35 Question Id : 5362283193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Consider the following technologies :

(A) Microprocessor

(B) Transistor

() Vaccum Tube

(D) Artificial Intelligence

Arrange the above technologies of different computer generations in the order they have
been used. Start from the technology that was used in first generation.

Choose the correct answer from the options given below :

(1) (C). (A). (B). (D) (2) (O, (B), A). (D)
(3) (B (0). (A). (D) 4) (O).(B). D). A
Options :

53622812437. 1
53622812438. 2
53622812439. 3
53622812440. 4

Question Number : 35 Question Id : 5362283193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ffeafgs dtfrhn feanen @ fT=m &

(A)  HEFROET

B) TR

©) i zE

(D) TITE_-I';_,F'. 7 a‘fmd et

fafi o difeat & wam i 78 s wrenfeEfe st # vl fE @ o FE gr e 8 ™
= f ™ fawew 3 =8 e 9

(1) (C). (A). (B). (D) (2) (C). (B). (A). (D)

(3) (B). (C), (A), (D) (4) (C). (B). (D). (A)

Options :

53622812437. 1
53622812438. 2
53622812439. 3
53622812440. 4

Question Number : 36 Question Id : 5362283194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The only UN treaty related to environmental 1ssues which has been ratified by all 197 UN
member states is

(1) Montreal Protocol (2) Paris Agreement
(3) Kyoto Protocol (4) Basel Convention
Options :

53622812441. 1
53622812442.2
53622812443. 3
53622812444. 4

Question Number : 36 Question Id : 5362283194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T G2 W WSO CHAE HEE ¥ SEFE RE A 7 e Sed U2 % o 197 #9 uE gm

(1) HTTae W2 (2) Ui o=
(3) = WEmEE (4) === T
Options :

53622812441. 1
53622812442.2
53622812443. 3
53622812444. 4



Question Number : 37 Question Id : 5362283195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As of now., which of the following 1s a leading country in wind energy based electricity

generation?

(1) India (2) China
(3) France (4) Denmark
Options :

53622812445. 1
53622812446. 2
53622812447. 3
53622812448. 4

Question Number : 37 Question Id : 5362283195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAAT A TS Tl AT SEA SeaE F A 3 reitetaga # | % @ st g 2 7

o

(1) HAd (2) =M
(3 wm (4) =T
Options :

53622812445. 1
53622812446. 2
53622812447.3
53622812448. 4

Question Number : 38 Question Id : 5362283196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Bolar Water St1ll’ 1= a device to

(1) Produce potable water by using solar energy

(2) Pump water by using solar energy

(3) (Generate electricity by using solar energy
(4) Produce heat using solar energy
Options :

53622812449. 1
53622812450. 2
53622812451.3
53622812452. 4



Question Number : 38 Question Id : 5362283196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘g @ feem v I 2, TameR 3o Hetehaa 9 @ e o e 9 27

(2) = HA % I G A H 9 FE F |

(4)  HEFH T I 2 T 350 A F e |
Options :
53622812449. 1
53622812450. 2
53622812451. 3
53622812452. 4

Question Number : 39 Question Id : 5362283197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the primary air pollutant among the following :

(1) Ozone (2 Black carbon aerosols
(3) Sulphate aeroszols (4) Peroxy Acetyl Nitrate (PAN)
Options :

53622812453. 1
53622812454. 2
53622812455. 3
53622812456. 4

Question Number : 39 Question Id : 5362283197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s 7 5 TuHE 99 TSaE o TR W

(1)  =Fm (2) =% FET WEEE
(3)  TFHZ T (4) T vHREES aEg (ff v )
Options :

53622812453. 1
53622812454. 2
53622812455. 3
53622812456. 4



Question Number : 40 Question Id : 5362283198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Long stretches of major rivers of India have very low Biochemical Oxygen
Demand (BOD) values.

Statement IT : In rvers oxygen 1s added into water by diffusion from air due to 1tz turbulent
and rapid flow.

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement IT is correct
Options :

53622812457. 1
53622812458. 2
53622812459. 3
53622812460. 4

Question Number : 40 Question Id : 5362283198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g =1 T fem T E

FeA (I):  9ed 61 yg@ e % o @el § SeEEET A g (S e A =ae (5
HATS1) ) =1 9 5T FH FAT

FoF (ID) : A F 30 31 99 T8 F FA0 99 F FEe @ 9 5 0 AT o e 2|
TUHF HUA F AT 1 e faenl § ¥ w3999 3 9

(1) = I3 2 75 7 |
(2) =y I3 I 2 98 76 2 |
(3) = I5A 7 g Fa= [ 58 74 2 |

(4) w1 EE T E R e a2

Options :
53622812457. 1



53622812458. 2
53622812459. 3
53622812460. 4

Question Number : 41 Question Id : 5362283199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Paravidya. according to the vedic tradition. implies :

(1) Knowledge based on human experience

(2) Knowledge that transcends human experience
(3) Knowledge acquired from teachers

(4) Enowledge acquired from texts.

Options :

53622812461. 1
53622812462. 2
53622812463. 3
53622812464. 4

Question Number : 41 Question Id : 5362283199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o 5 3
dTe® TET & FAEAR W 5 A7Y 7

(1) qHE 99 T AT 74
(2)  HFE FET H WA
(3)  Touw @ wtsa 79
(4) T H A T
Options :
53622812461. 1
53622812462. 2

53622812463. 3
53622812464. 4

Question Number : 42 Question Id : 5362283200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The underlying purpose of environmental education 1s to :

(A)
(B)
(C)
(D)
(E)

Adjust to environmental challenges

Help face environmental hazards

Promote individual’s eritical-thinking about emerging issues
Increase public awareness and knowledge of environmental 1ssues.

Enhance problem-solving and decision-making skills in respect of handling
environmental 1ssues.

Choose the correct answer from the options given below :

(1)
(3)

(A). (B). (C) only (2) (B). (C). (D) only
(C). (D). (E) only (4) (D). (E). (A) only

Options :

53622812465. 1
53622812466. 2
53622812467. 3
53622812468. 4

Question Number : 42 Question Id : 5362283200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR A A 35S B

(A)  TETEET T FATaE F T JEHETE T

(B) A GEdl @At 1 FHAT FA F FEEAar B |

(C) ='Wid g2 = 91 § =Afdd & THTr=Aeas = F g 2 |

(D) AT T GEET % AW d SISl #H1T 5E Sa |

() o= msiel gz & fived & mge-wmam s o =6 % S J ghg w |
= f3 ™ fawew w3 g

(1) =9 (A). B) = (C) (2) F== (B). (C) % (D)

(3) A (C). (D) 3 (E) (4) Fa= (D). (E) 31 (A)
Options :

53622812465. 1
53622812466. 2
53622812467. 3
53622812468. 4

Question Number : 43 Question Id : 5362283201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



MHED. Govt. of India. scheme "RUSA’ supports the following components :

(A) Upgrading autonomous colleges to the status of a Unmiversity

(B) Providing maintenance grants to state Universities

(C) Setting up of new professional colleges in un-served and under-served areas of the
country

(D)  Providing infrastructure grants to colleges and universities to scale up capacity

(E) More scholarship programmes to supplement the cost of education

Choose the correct answer from the options given below :

(1) (A). (B). (D) and (E) only (2) (A). (B). (C) and (E) only
(3) (B (C). (D) and (E) only 4) (A, (C). (D) and (E) only
Options :

53622812469. 1
53622812470. 2
53622812471. 3
53622812472. 4

Question Number : 43 Question Id : 5362283201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WA THR & AEE BETEA G T S R A0S AeiaiEd § 9 R g9 79 g 1=
Fdl 77

(A) T WA H HTEEEeE w2 UEE W F e |

(B) T Va1 S AR TEE W e |

(C) =91 % =35Tad 3 S99 &30 5 90 =EEiE® FHieal T FA H e |
(E)  Toven 1 = i A9 FH o T, S379 STdaicd HEEE 9eH & o |

4 T2 T e o wE I e

(1)  F= (A), (B). (D) 3 (E) (2) =aE (A). (B). (C) #F (E)
(3)  F== (B). (). (D) ¥ (E) (4) F== (A). (C), (D) 77 (E)
Options :

53622812469. 1
53622812470. 2
53622812471. 3
53622812472. 4

Question Number : 44 Question Id : 5362283202 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ICT imitiatives of MHRD deal with E-governance for
mnstitutions/unmiversities?

(1) SAMARTH (2) VIDWAN
(3) IRINS (4) SWAYAM
Options :

53622812473. 1
53622812474. 2
53622812475. 3
53622812476. 4

Question Number : 44 Question Id : 5362283202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U4 YA fa@E oaeE i Feteiad 8 | $F =5 9E 9 4 95 9o/ AvataEe § oo e
o HEta 27
{1) "ﬁ'.l','?? (2) i = 1
(3) ‘HTE AR W T Uy (4) ‘=
Options :

53622812473. 1
53622812474.2
53622812475.3
53622812476. 4

Question Number : 45 Question Id : 5362283203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A De-novo’ institution 1s characterized by
(1) ICT enabled pedagogy
(2) focus on teaching and research in unique and emerging areas of knowledge

(3) focus on teaching and research on foreign languages and their literature
(4} state of art infrastructure

Options :

53622812477. 1
53622812478. 2
53622812479.3
53622812480. 4

Question Number : 45 Question Id : 5362283203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



uF ‘Te—AmE e i = e R

(1) =2 = &1 Tt e

(@ % g S I G § e S i e e e |
(3)  TACEl YA HR = E Wi % AW SE Y W S Hgd |
(4) AT AF FHATE] 2

Options :

53622812477. 1
53622812478. 2
53622812479. 3
53622812480. 4

Sub-Section Number : 3
Sub-Section Id : 536228127
Question Shuffling Allowed : Yes

Question Id : 5362283204 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage and answer questions from 46 to 50.

If so much of present day cultural learning depends on situation and context how do the
resulting assemblages acquire an organmsed coherence? One way this 1ssue 1s being raised 1n
recent anthropology 1s through the concern with identity, whether defined as identity of the
person of an ethnic group or of an entire nation. But identities do not swim above 1n the
stream of social life lilke amoebas in fermenting banana soup. If definitions of identity
mnvolve a characterisation of attributes and a drawing of boundaries around the umts so
defined. in contrast with other units. this must have a causal context. Moreover. we know
that the search for identity varies historieally. intensifying or slackening over periods of
time. Thus. a major rise occurred 1n the demand for identity with the advent of the
nation-state and the collateral development of nationalism. which hoped to create a unified
and 1dentifiable ‘people’. out of diverse populations with distinetive 1dentities of their own.
Recently, the demand for identities has risen once again, precisely at a time when cultural
repertolres are becoming agaln more heterogeneous, as people have responded to changes 1n
the social division of labour, in their relation to governments. in reaction to new modes of
communication. These repertoires of cultural understandings and practices do not easily fit
any traditional notion of culture as an integral and integrated set of forms and meanings.

Sub questions

Question Number : 46 Question Id : 5362283205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1= the foecal 1ssue 1n the present day cultural learming?

(1) Unending discussions on it (2) Contextual clarity
(3) Anthropological concern (4) The need to organise the 1ssue properly
Options :

53622812481. 1



53622812482.2
53622812483. 3
53622812484. 4

Question Number : 47 Question Id : 5362283206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The i1dentity has a tendency to have

(1) Different attributes from others

(D) Coherence with other units

(3) Undistinguishable boundaries

(4) The movement above the stream of social life

Options :

53622812485. 1
53622812486. 2
53622812487.3
53622812488. 4

Question Number : 48 Question Id : 5362283207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hiztorically the search for identity has been of

(1) Uniform continuity (2) Slackening of culture
(3 Intermittent intensity (4) Illogical motives
Options :

53622812489. 1
53622812490. 2
53622812491.3
53622812492. 4

Question Number : 49 Question Id : 5362283208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The advent of nationalism led to
(1) Competing 1identities
(2) Single 1dentity across the nation
(3) The emergence of a unified cultural repertoire

(4) Umnity within diverse identities

Options :



53622812493. 1
53622812494. 2
53622812495. 3
53622812496. 4

Question Number : 50 Question Id : 5362283209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The new cultural understanding does not fit into the traditional notion of culture due to

(1) New modes of communication

(2) Traditional social divisions of labour

(3) Integrated sets of meanings
(4) The creation of a strong nation-state
Options :

53622812497. 1
53622812498. 2
53622812499. 3
53622812500. 4

Question Id : 5362283204 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension

Frferiiaa e i eARyEE 9e ST 9vAl (46-50) F I 3

A T TEHAH SHIERRE S ATEEE: IR va 52 W SR =m0 9% e 2
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=Y ¥ URATA A W0 | e UESH 6 9W H A8 A9 Fel S Hhdl T 9% el o 6" § A 9l s
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Sub questions

Question Number : 46 Question Id : 5362283205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

A T H HEHGF AGTH T HoE g5 AT

(1) @ W I I9 (2) =Y TEdt T
(3)  IE W (4) =0 g% w1 SfEa @ ° wnfed e A AEvaE

Options :

53622812481. 1
53622812482.2
53622812483.3
53622812484. 4

Question Number : 47 Question Id : 5362283206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TEAH § HEfaiad we #WA i g wet e
(1) == 8 fq= o
(2) 3 T HEEAA]
(3)  wifaadm Hmm

.

(4)  =EMSF S99 9 F1 G998 W e

Options :

53622812485. 1
53622812486. 2
53622812487.3
53622812488. 4

Question Number : 48 Question Id : 5362283207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UfdRTE 9 T TR ° Fefeiad O R e e w5 v we e e

(1) TFREHE AT (2) HEFE =l P

(3)  FEEW (4) FEIEFF IO0F

Options :

53622812489. 1
53622812490. 2
53622812491.3
53622812492. 4



Question Number : 49 Question Id : 5362283208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g F 329 F FE FefatEa gan

(1)  wfeeagl ==

r

(2) =Yl T H UEA TEEH

(3) ED uqfrg,n Hiug_riﬁm F9 T 329
(4)  Tafagaeel ge=E % S TEa

Options :

53622812493. 1
53622812494. 2
53622812495. 3
53622812496. 4

Question Number : 50 Question Id : 5362283209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T AFAE FAEY Fefangd § e F Set WO 9won o+ SgEd TE a2l w

(1) wem F R

(2) 9 T TEENTE SEIAF 9T
(3) AU HHH THE

(4)  TF gEgh TE-T H g

Options :

53622812497. 1
53622812498. 2
53622812499. 3
53622812500. 4

PART II Visual Art
Section Id : 53622844
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228128
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362283210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Releif sculpture of Vishnu — Anantshawvi 1s enshrined in a niche on outer wall of a Gupta
temple. What 1s the name of the temple?

(1) Vishnu Temple, Airan (2) Udaigiri. Vidisha
(3) Dasavatar Temple. Deogarh (4) Sanchi Cave no. 17
Options :

53622812501. 1
53622812502. 2
53622812503. 3
53622812504. 4

Question Number : 51 Question Id : 5362283210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR At 1 ST dEn % v avEn ¥ Gy s f e s 8 9id s ag 21 5| At
IH 7

(1) oo A, oA (2) weEm, figem
(3)  =umEan T, T (4) =2 TEE. 17
Options :

53622812501. 1
53622812502. 2
53622812503. 3
53622812504. 4

Question Number : 52 Question Id : 5362283211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Acecording to Brahmanical Iconography the attribute mirror is held by the Goddess.

(1) Sarasrafi (2) Indram
(3) Lakshm (4) Sheetala



Options :

53622812505. 1
53622812506. 2
53622812507. 3
53622812508. 4

Question Number : 52 Question Id : 5362283211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FTEAY TAHT e F AgEE 3 et 5 O e 21w g 27

” [ul

(1) PARE= ol (2) =
(3) =& (4) TfEen
Options :

53622812505. 1
53622812506. 2
53622812507. 3
53622812508. 4

Question Number : 53 Question Id : 5362283212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which Mughal monument the famous Musamman Burj 1s located?

(1) Red fort, Agra (2) Red fort. Della
(3) Shahi Fort. Lahore (4) Fatehpur Sikam, Agra
Options :

53622812509. 1
53622812510. 2
53622812511. 3
53622812512. 4

Question Number : 53 Question Id : 5362283212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o e T ° A g o fed B Y

(1) == e, = (2) = T, T
(3)  TH FE, @R (4) TR o, wvE
Options :

53622812509. 1
53622812510. 2



53622812511.3
53622812512. 4

Question Number : 54 Question Id : 5362283213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From the following sculptors. Whose work represents influence of Mexican primitive

sculptures?

(1) August Rodin (2) dJean Arp

(3) Alberto Giacomett1 (4) Henry Moore
Options :

53622812513. 1
53622812514. 2
53622812515.3
53622812516. 4

Question Number : 54 Question Id : 5362283213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfataa giawm 4 9 o o 9 Sifees f1 a=E aiewtes gidhen & TWE F e

B @ s
(3)  wAewel TAamRHe (4) F
Options :

53622812513. 1
53622812514.2
53622812515.3
53622812516. 4

Question Number : 55 Question Id : 5362283214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Name the western scholar who developed the 1dea that Art Expresses Emotions. not Ideas.

(1) Chive Bell (Z) Hegel
(3) Penotsky (4) Croce
Options :

53622812517. 1
53622812518. 2
53622812519.3
53622812520. 4



Question Number : 55 Question Id : 5362283214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ufv=st 2ot = T fagm =1 =7 w9 o1 f6 o0 & "rogm | WA i stesats 24 2 9 B = e

(1) a5 (2) Fme
(3)  TErEE (4)
Options :

53622812517. 1
53622812518. 2
53622812519. 3
53622812520. 4

Question Number : 56 Question Id : 5362283215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
INlustrated manuscript ‘Tuti Nama' consists of 52 stories and 250 immature paintings
executed in Mughal court studio. To whose reign 1t dates?

(1) Babar (2) Humayun
(3) Akbar (4) Jehangir
Options :

53622812521. 1
53622812522.2
53622812523. 3
53622812524. 4

Question Number : 56 Question Id : 5362283215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AEArdd MEIeAd qAAT § e 2R F w2ed 9 54 250 =g fasnl 310 52 e W 3gW 7l 9
o IO o Teraas e T v

(1) == (2) =ad
{3} AT f‘ij 3 -"--]ri 1
Options :

53622812521. 1
53622812522.2
53622812523. 3
53622812524. 4



Question Number : 57 Question Id : 5362283216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s name of the temple constructed on apsidal plan at Aihole?

(1) Lad Khan

(Z) Durga Temple

(3) Kontigudi Temple
(4) Meguti Temple

Options :

53622812525. 1
53622812526. 2
53622812527. 3
53622812528. 4

Question Number : 57 Question Id : 5362283216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEA § ufiige oA W e gfer 2 -

(1) EIGRCIE) (2) a’lﬁ nfer
(3)  HIATE i (4) Tt Hfex
Options :

53622812525. 1
53622812526. 2
53622812527. 3
53622812528. 4

Question Number : 58 Question Id : 5362283217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who painted the portrait of “Bani Thani”™ mistress of Raja Savant Singh?

(1) Nihal Chand (2) Bisandas
(3) Namsukh (4) Fattu
Options :

53622812529. 1
53622812530. 2
53622812531.3
53622812532. 4



Question Number : 58 Question Id : 5362283217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) FEE (2) T =
(3) 4 g
Options :

53622812529. 1
53622812530. 2
53622812531. 3
53622812532. 4

Question Number : 59 Question Id : 5362283218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Johan J. Winkelmanu 1s associated with

(1) Romanticism (2) Realism
(3 Impressionism (4) Neoclassicism
Options :

53622812533. 1
53622812534. 2
53622812535. 3
53622812536. 4

Question Number : 59 Question Id : 5362283218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) T=eggaEe (2) =mdaE |
(3) wHEERE T (4) EETEEERE °
Options :

53622812533. 1
53622812534.2
53622812535. 3
53622812536. 4

Question Number : 60 Question Id : 5362283219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who was often called the father of English Water colour

(1) William Blake (2) John Constable
(3) Lard Curzon (4) Paul Sandby
Options :

536228125371
53622812538. 2
53622812539. 3
53622812540. 4

Question Number : 60 Question Id : 5362283219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A T8 w3sT 5= 77 (English Water Colour) =61 5+ =hal =141 7 7

1)  fafes ==+ @) = FEE
(3) = FA (4) i He=sit
Options :

53622812537. 1
53622812538. 2
53622812539. 3
53622812540. 4

Question Number : 61 Question Id : 5362283220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The painting tittled. ‘Sat1’ was created by

(1) Ramkumar (Z) Rameshwar Broota
(3) Nandlal Bose (4) Binod Bihar1 Mukharjee
Options :

53622812541. 1
53622812542.2
53622812543. 3
53622812544. 4

Question Number : 61 Question Id : 5362283220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt A e e g s T o

(1) T FAR (2) THTE =
(3) = A (4) foare faerd g
Options :

53622812541. 1
53622812542.2
53622812543. 3
53622812544. 4

Question Number : 62 Question Id : 5362283221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Dialectics theory given by which Aesthetician.

(1) Leo Tolstoy (2)  Aristotle
(3) Hegel (4) Corce
Options :

53622812545. 1
53622812546. 2
53622812547. 3
53622812548. 4

Question Number : 62 Question Id : 5362283221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e Lo N =i o = T R o e AT R L M e e

(1) ot Ao (2)
(3)  FrE (4) w=
Options :

53622812545. 1
53622812546. 2
53622812547.3
53622812548. 4

Question Number : 63 Question Id : 5362283222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who painted the famous Barogue style painting. “Rape of Europa™

(1) Peter Paul Rubens (2) Caravaggio
(3) Rembrandt (4) Velasquez
Options :

53622812549. 1
53622812550. 2
53622812551. 3
53622812552. 4

Question Number : 63 Question Id : 5362283222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

L @ Bt
@) R (4) FATFTH
Options :

53622812549. 1
53622812550. 2
53622812551. 3
53622812552. 4

Question Number : 64 Question Id : 5362283223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who painted. “The calling of St. Mathew™?

(1) Henri Matisse

() Zurbaran
(3) Andre Derain

(4) Caravaggio
Options :
53622812553. 1
53622812554. 2
53622812555.3
53622812556. 4

Question Number : 64 Question Id : 5362283223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



“2 eI ATF T2 Heg TohEe g 7

(1) =11 orfas (2) FETH
(3) W= A (4)
Options :

53622812553 1
53622812554. 2
53622812555. 3
53622812556. 4

Question Number : 65 Question Id : 5362283224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
William Blake represents to which art movement.

(1) Impressionism (2) Expressionism
(3) Romanticism (4) Fauvism
Options :

53622812557. 1
53622812558. 2
53622812559. 3
53622812560. 4

Question Number : 65 Question Id : 5362283224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Taferay stk Fell T=To[ & 0 20 =1 TiaiEiaed 59T 2 ¢

(1)  wHEEE 2 SERIE
(3) =HEATET (4) FEEE
Options :

53622812557. 1
53622812558. 2
53622812559. 3
53622812560. 4

Question Number : 66 Question Id : 5362283225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



During early renaissance who initially experimented with perspective 1n painting.

(1) Paolo Uccello (2) Giotto
(3) Masaccio (4) Botticelll
Options :

53622812561. 1
53622812562.2
53622812563. 3
53622812564. 4

Question Number : 66 Question Id : 5362283225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AR & WIAE 20§ e af o aftes & me smerdt wEn e

(1)  wr3e == (2) T
(3)  HE=E (4) =i
Options :

53622812561. 1
53622812562. 2
53622812563. 3
53622812564. 4

Question Number : 67 Question Id : 5362283226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Jacques Lipchitz was a

(1) Russian Sculptor (2) French Sculptor
(3) Spanish Sculptor (4) American Sculptor
Options :

53622812565. 1
53622812566. 2
53622812567. 3
53622812568. 4

Question Number : 67 Question Id : 5362283226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) =5 qiasm 4 @) s o &
© = Hﬁ_ﬂr 4 (4) TR W:'f o
Options :

53622812565. 1
53622812566. 2
53622812567. 3
53622812568. 4

Question Number : 68 Question Id : 5362283227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In Elephanta ‘Shiva Mahesamurti’ is in

(1) Limestone
(2) Granite
{3) Dark brown sandstone

(4) Red Sandstone
Options :
53622812569. 1
53622812570. 2
53622812571.3
53622812572. 4

Question Number : 68 Question Id : 5362283227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) =T 9 (2) T2
(3) TS Y71 AT Tee (4) T T TUL
Options :

53622812569. 1
53622812570. 2
53622812571. 3
53622812572. 4

Question Number : 69 Question Id : 5362283228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Sculptor Gonzalez used to work with -

(1) Henry Moore (2) Henri Matisse
(3) Pablo Picasso (4) Alberto Giacomett1
Options :

53622812573. 1
53622812574.2
53622812575. 3
53622812576. 4

Question Number : 69 Question Id : 5362283228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1H$H Mi=aATers (eterien 5 5 e w19 e e Fa 97

@ ww @ T
(3) e T @ o PR
Options :

53622812573. 1
53622812574. 2
53622812575. 3
53622812576. 4

Question Number : 70 Question Id : 5362283229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which substance 1s applied for cleaning aluminium during melting?

(1) Sodium Chloride (2) DBorax
(3) Sugar (4) Ammonium Chloride
Options :

53622812577 1
53622812578. 2
53622812579. 3
53622812580. 4

Question Number : 70 Question Id : 5362283229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1)  Tifzan FanEs (2) =Em
(3) = (4)  HHTHIH FANIES
Options :

53622812577. 1
53622812578. 2
53622812579.3
53622812580. 4

Question Number : 71 Question Id : 5362283230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Typical metal reliefs of P.V. Janakiram are made by

(1) Indigenous process (2) Lost — Wax process
(3) Sand Cast (4) Respousse process
Options :

53622812581. 1
53622812582.2
53622812583. 3
53622812584. 4

Question Number : 71 Question Id : 5362283230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i . FrEhEm =i wifataE g i 3safen (i) e e e 2

(1) =9 afan (2) = 999 TEE
(3) HT = (4) forsh w=m
Options :

53622812581. 1
53622812582.2
53622812583. 3
53622812584. 4

Question Number : 72 Question Id : 5362283231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



"Art 15 a certain kind of Symbol is a doctrine propagated by

(1) Anristotle (2) Plato
(3) Roger Fry (4) Susanne K. Langer
Options :

53622812585. 1
53622812586. 2
53622812587. 3
53622812588. 4

Question Number : 72 Question Id : 5362283231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“FeAT UF TFE T U 2 | F T9EE B

(1) = (2)
(3) TS FIE (4) THHER
Options :

53622812585. 1
53622812586. 2
53622812587.3
53622812588. 4

Question Number : 73 Question Id : 5362283232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘Black Sun'’ 1= a work by

(1) Ernst Barlach (2) Constantin Brancusi
(3) Isamu Naguchi (4) Walter Bodmer
Options :

53622812589. 1
53622812590. 2
53622812591. 3
53622812592. 4

Question Number : 73 Question Id : 5362283232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1) 7= == (2) At FTFE
(3)  zEE AVED (4) =Tes =S
Options :

53622812589. 1
53622812590. 2
53622812591. 3
53622812592. 4

Question Number : 74 Question Id : 5362283233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘And then what Happened’ 1s a sculpture by

(1) Alex Methew (2) Rajat Ghosh
(3) N. Pushpamala (4) N.N.Rimzan
Options :

53622812593. 1
53622812594. 2
53622812595. 3
53622812596. 4

Question Number : 74 Question Id : 5362283233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TS 29 T2 2URS Hid TeATeTigd 6 e s v

(1)  vereE 42 (2) T =
(3) T, TOTHTAT (4) vA.A, fEEE
Options :

53622812593. 1
53622812594. 2
53622812595. 3
53622812596. 4

Question Number : 75 Question Id : 5362283234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A full-colour magazine. for producing a range of tones. as found 1n Phalography uses: -

(1) 150 dp1 (2)  300dm
(3) 60 dp1 (4) 600dm
Options :

53622812597. 1
53622812598. 2
53622812599. 3
53622812600. 4

Question Number : 75 Question Id : 5362283234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U YU T BT H, DETA 1 G0, T 1 U 79 59 (o0 a0 TEe R

(Iy 150 = i 318 (2) 300 =t 3
@ 60 ome (4) 600 Zi Tt wE
Options :

53622812597. 1
53622812598. 2
53622812599. 3
53622812600. 4

Question Number : 76 Question Id : 5362283235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Hex' colours are used when creating design for the

(1) Internet (2) Outdoor Billboards
(3) Canvas board (4) Bonding and Logos
Options :

53622812601. 1
53622812602. 2
53622812603. 3
53622812604. 4

Question Number : 76 Question Id : 5362283235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fAfetiga 8 o e o afasesd =0 999 =99 1 &1 T4 f = &7

1) ==z (2) =TEd TEE AE
(3) Hamas (4) FT= AT qIH
Options :

53622812601. 1
53622812602. 2
53622812603. 3
53622812604. 4

Question Number : 77 Question Id : 5362283236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The main force of attraction in graphic design 1s generated by the combination of :

(1) Words only

(2) Image(s) only

(3) Word and Image

(4) Word. pictures and other elements like logo and Symbols

Options :

53622812605. 1
53622812606. 2
53622812607. 3
53622812608. 4

Question Number : 77 Question Id : 5362283236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=T atE AfaF=o 4 AT % THE 99 i g g & 99 § w57 E

(1) e 7753 (2) ad B
(3) W R B (4) vz, Tom ¥ 9= 3 wdE S o T
Options :

53622812605. 1
53622812606. 2
53622812607. 3
53622812608. 4

Question Number : 78 Question Id : 5362283237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



La}

Which one 1s a fat face Roman type?

(1) Oswald Cooper (2) Austin Cooper
(3) Cooper Muriel (4) Cooper Black
Options :

53622812609. 1
53622812610. 2
53622812611. 3
53622812612. 4

Question Number : 78 Question Id : 5362283237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

f=fefga 9 9 9 91 912 SEtEen (62 wE) 176 2R 2 Y

(1)  AETs FR (2) =
(3) T HA (4) FW =T
Options :

53622812609. 1
53622812610. 2
53622812611.3
53622812612. 4

Question Number : 79 Question Id : 5362283238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which 1s the modern design movement that was closed down by Hitler's Nationalist
government 1n the early 30's in 20® Century

(1) Bolshevism (2) Bauhaus
(3) Dentscher Werkbund {4) The Arts and Crafts movement
Options :

53622812613. 1
53622812614. 2
53622812615.3
53622812616. 4

Question Number : 79 Question Id : 5362283238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



IE FHE T ATYHF ATIFCT S 91 faE 20 o wAnel % 30 % 29 6 9Ny o feew f aard
TR A w2 A T3 a e

% A

(1) == (2) =iEm
(3) =TI TEAE (4) e A foey snEeE (2 ARd U FwR gEEe)
Options :

53622812613. 1
53622812614. 2
53622812615.3
53622812616. 4

Question Number : 80 Question Id : 5362283239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Herman Zasf 1s one of the most 1llustrious designer of the 20 Century and had
specialization in the area of

(1) Pozter (2) Typography
(3) Subway Advertising (4) Digital Expressionism
Options :

53622812617. 1
53622812618. 2
53622812619. 3
53622812620. 4

Question Number : 80 Question Id : 5362283239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

BT AIOF 20 = TS % HaEae e Wiated (AT O ° UF £ 3 6! ST F T o

() o= (2) HEW FeAl
(3) =9 A7 faE (4) ¥FE ATGTFTER
Options :

53622812617. 1
53622812618. 2
53622812619. 3
53622812620. 4

Question Number : 81 Question Id : 5362283240 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Size of a newspaper advertisement are conventionally indicated 1n terms of?

(1) Column X Cerntimetre (2) Inch Xinch
(3) Inch X Centimetre (4) Square inch
Options :

53622812621. 1
53622812622.2
53622812623. 3
53622812624. 4

Question Number : 81 Question Id : 5362283240 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THET 99 95199 1 AR UTEE €Y H g 929 ° [EE e e 2

(1)  =ieE < 9.4, (2) 39 x4
(3) =9 xHH. (4) =
Options :

53622812621. 1
53622812622. 2
53622812623. 3
53622812624. 4

Question Number : 82 Question Id : 5362283241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The term ‘Leitmotif 1s associated with which of the following design trends (Schools)

(1) Expressionism (2) The Chicago School
(3) Mackintosh and the Glasgow School (4) Art Nouveau

Options :

53622812625. 1
53622812626. 2
53622812627.3
53622812628. 4

Question Number : 82 Question Id : 5362283241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fafere w=eeretl (wigeniies) oree Feafefaa 5 9 fF sAtsea wa (Tema) 9 geag 27

(1)  HAfy=r=ER (2) TR AT
(3)  HiF=m iR TeET e (4) 79 Fewr (=72 Ta)
Options :

53622812625. 1
53622812626. 2
53622812627. 3
53622812628. 4

Question Number : 83 Question Id : 5362283242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Hansa Damayanthi” 1s famous

(1) Oleograph of Raja Ravi Varma (2) Serigraph of Jagmohan Chopra
(3) Wood engraving of Haren Das (4) Intaglio of Jyoti Bhatt
Options :

53622812629. 1
53622812630. 2
53622812631. 3
53622812632. 4

Question Number : 83 Question Id : 5362283242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) T T F9 S (2) PTHE TS F HETE
(3) = T W W IhivE (T3 sIE) (4) =T ug w1 I g (seefea)
Options :

53622812629. 1
53622812630. 2
53622812631. 3
53622812632. 4

Question Number : 84 Question Id : 5362283243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Leather roller 1s used for

(1) Intaglio printing (2) Lithography printing
(3) Relief printing (4) Colography printing
Options :

53622812633. 1
53622812634. 2
53622812635. 3
53622812636. 4

Question Number : 84 Question Id : 5362283243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) 3=t fifen (Inlaglio Printing) (2) TAgmd fafs
(3)  fefe i (4) T fufE
Options :

53622812633. 1
53622812634. 2
53622812635. 3
53622812636. 4

Question Number : 85 Question Id : 5362283244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Different type of “Graver” use for :

(1) Grinding (2) Engraving
(3) Mezzotint (4) Dry-point
Options :

53622812637. 1
53622812638. 2
53622812639. 3
53622812640. 4

Question Number : 85 Question Id : 5362283244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fafis w=m = (Graver) “O=" 1 =M 2@ 7 -

(1) o9 = fom (2) FehE = feu
(3) T F fom (4) =E-TE % o
Options :

53622812637. 1
53622812638. 2
53622812639. 3
53622812640. 4

Question Number : 86 Question Id : 5362283245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hiroshige was master of

(1) Wood engraving prints (2) Wood cut prints
(3) Dry — points prints (4) Stencil prints
Options :

53622812641. 1
53622812642. 2
53622812643. 3
53622812644. 4

Question Number : 86 Question Id : 5362283245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ifert Freaferfia % & fm foew 7 7 47

(1) =g SehmM (g3 sfan) iz (2) =m %2 e (32 == fi=)
(3) 3@ T (4) oo fiz
Options :

53622812641. 1
53622812642. 2
53622812643. 3
53622812644. 4

Question Number : 87 Question Id : 5362283246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



“Wound” series are :

(1) Etching print (2) Pulp print
(3) Wood Print (4) Serigraph print
Options :

53622812645. 1
53622812646. 2
53622812647. 3
53622812648. 4

Question Number : 87 Question Id : 5362283246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) U= e (2) v=q fuz
(3) T (4) =HuTE T
Options :

53622812645. 1
53622812646. 2
53622812647. 3
53622812648. 4

Question Number : 88 Question Id : 5362283247 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A documentary film named “Inner Eye” by film maker Satyajit Roy made on :

(1) K.G. Subramanyam (2) Binode Behari Mukherjee
(3 Nandlal Bose (4) Ramlkinkar Baij
Options :

53622812649. 1
53622812650. 2
53622812651. 3
53622812652. 4

Question Number : 88 Question Id : 5362283247 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



- - [ : J."\- -T T;Tr[ r E-I’ q_:[—{aa .W _ﬂ_l?_':.,a "‘_‘ ™ _lr\ Tlgr' %?

(1)  =.5. gemvay (2) Terre faer g
(3) e W (4) TR S
Options :

53622812649. 1
53622812650. 2
53622812651. 3
53622812652. 4

Question Number : 89 Question Id : 5362283248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Raja Ravi Varma started hithographic press in Ghatkopar, Bombay.

(1) 15864 (2) 1894
(3) 1854 (4) 1874
Options :

53622812653. 1
53622812654. 2
53622812655. 3
53622812656. 4

Question Number : 89 Question Id : 5362283248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T = 7 wEE % gz § fermmrd 1 9w oo -

(1) 18647 (2) 18944
(3)  1884H (4) 18747
Options :

53622812653. 1
53622812654. 2
53622812655. 3
53622812656. 4

Question Number : 90 Question Id : 5362283249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who illustrated the Tagore's book “Sahaj Path™?

(1) Mukul Chandra Dey (2) Biswarup bose
(3) Ramen Chakraborty (4 Nandlal Bose
Options :

53622812657. 1
53622812658. 2
53622812659. 3
53622812660. 4

Question Number : 90 Question Id : 5362283249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2R i T R ue” ® o R g

(1) TFATEE () fo=Es o
(3) ™A =gl (4) 7= == =5
Options :

53622812657. 1
53622812658. 2
53622812659. 3
53622812660. 4

Question Number : 91 Question Id : 5362283250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the German Aestheticians

(A) Baumgarten
B Giorgio Vasoorl
(C) Croce

(D) Hegel

Choose the correct answer from the option given below :

(1) (B) and (C) only (2) (A) and (D) only
(3) (A) and (B) only (4) (C)and (D) only
Options :

53622812661. 1
53622812662. 2



53622812663. 3
53622812664. 4

Question Number : 91 Question Id : 5362283250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A)  =HTeA
(B) = T
(Cy ==

(D) =

Fefetan eTt 8 8 TS 399 I 96 ;

(1)  Fa4 (B) 5117 (C) (2) A= (A) A7 (D)
(3) === (A) #HE (B) (4) == (C) #iT (D)
Options :

53622812661. 1
53622812662. 2
53622812663. 3
53622812664. 4

Question Number : 92 Question Id : 5362283251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Under the Kushana patronage main schools of sculptures flourished at
(A) Gandhara (Greco-Indian)

(B) Mathura (Indeginous)

(C) Amravati

(D) Nagarunikonda

Choose the correct answer from the option given below :

(1) (C) and (D) ony (2) (A and (D) only
(3) (A) and (B) only (4) (B) and (C) only
Options :

53622812665. 1
53622812666. 2
53622812667. 3
53622812668. 4

Question Number : 92 Question Id : 5362283251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FATT 99 F IR °§ qidsen Fefeigd 8 O wal uglhaa afea 727

(A)  Tam (FE-ziEA)

(B) =Y (=)

(C) AT

o 1

(D)  ATEATIS]

ffatas et 8 & Faias 3795 30 900 ;
(1)  Fa= (C) =i (D) (2) Fa= (A) #7 (D)

(3) A= (A) T (B) (4) = (B) 1 (C)

Options :



53622812665. 1
53622812666. 2
53622812667. 3
53622812668. 4

Question Number : 93 Question Id : 5362283252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Barogque art movement of Europe 1s known for depictting :
(A) Intense Emotions

(B) Simplistic forms

(©) Dynamic Motion

(D) Contrast of light and shade

Choose the correct answer from the option given below :

(1) (A). (B) and (C) only (2) (B), (C) and (D) only
(3) (A). (C) and (D) only (4) (A). (B) and (D) only
Options :

53622812669. 1
53622812670. 2
53622812671.3
53622812672. 4

Question Number : 93 Question Id : 5362283252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T S AL GaAHe iR § ° e Afasats 5 o ufag 27
(A) LEC R IEEI]

(B) e &9

(C) Uit i

(D)  WEE HR S e

ffeTiaa faeTl § § TEigE 9T 3 90 ;

(1) F= (A). (B) 1 (O) (2) Fa (B), (C) 7 (D)

() T (A), (O) ¥ (D) (4) Fa (A). (B) 3% (D)

Options :

53622812669. 1
53622812670. 2
53622812671. 3
53622812672. 4

Question Number : 94 Question Id : 5362283253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Shikar in Dravidian Temples are stylistically bears following elements?

(A) Kalash

(B) Stupika
(C) Chaitya motif

(D)  Karn Shikhar

Choose the correct answer from the option given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (A) and (D) only
Options :

53622812673. 1
53622812674. 2
53622812675.3
53622812676. 4

Question Number : 94 Question Id : 5362283253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



s e 7 st 3 foree Fresifon & @ Fot e & 7 7 B0

(A) T
B) =
(C) <o =afimm

(D) =

ftetas faweT) 9 o TEias 309 500 90 ;

1) %= (A) 3 (B) (2) A (B) #1 (C)

(3) A (C) # (D) (4) Fa (4) 37T (D)

Options :

53622812673. 1
53622812674. 2
53622812675. 3
53622812676. 4

Question Number : 95 Question Id : 5362283254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Landmark monuments in Fatehpur Sikn are

(A) Jhulti Minar

(B) Buland Darwaza

(C) Hawa Mahal

(D) Panch Mahal

Choose the correct answer from the option given below :

(1) {A) and (C) only (2) (B)and (C) only
(3) (B) and (D) only (4) (C)and (D) only
Options :

53622812677. 1
53622812678. 2
53622812679. 3
53622812680. 4

Question Number : 95 Question Id : 5362283254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) A AR
B)  Foig Sara
(C) & Hew

(D) = 9=

Fferfiaa el @ o maias IUT fif-i,u_;

(1) === (A) 37 (C) (2) == (B) 7 (C)

(3) A= (B) #=iw (D) (4) === (C) =7 (D)

Options :

53622812677. 1
53622812678. 2
53622812679. 3
53622812680. 4

Question Number : 96 Question Id : 5362283255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Find the Name of persons known as painter as well as printmaker
(&) Dhanraj Bhagat

(B) K.G. Subramanyvam

(C) Somnath Hore

(D) B.C. Sanyal

Choose the correct answer from the option given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (D) and (A) only
Options :

53622812681. 1
53622812682. 2
53622812683. 3
53622812684. 4

Question Number : 96 Question Id : 5362283255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I =FAT F TH 2 F T AT SRR AT F T F A4 T4 F
(A) T 9T

(B)  =.41. gEmvaH

(C)  =mY =R

(D)  EL g

H=r o1 T fawedl @ F watta® sugT I 9

(1)  =aa (A) 31 (B) (2) Faa (B) A1 (C)
(3) = (C) 37 (D) (4) A= (D) A1 (A)

Options :

53622812681. 1
53622812682. 2
53622812683. 3
53622812684. 4

Question Number : 97 Question Id : 5362283256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the artists who were associated with Abstract art movement.

(A) Kandinsky

(B) Marinomarini

(C) Malevich

(D) Piet Mondrain

Choose the correct answer from the option given below :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3) (A). (C) and (D) only (4) (A). (B) and (D) only
Options :

53622812685. 1
53622812686. 2
53622812687. 3
53622812688. 4

Question Number : 97 Question Id : 5362283256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A oAl AR T Heg HATRR] il GEE

(A)  FsHH
B) A A
(C)  TeEd

(D) i =iz

e o3 T fawel 4 @ wataE 39EE I g

(0 9 A )T () @ ¥ (B), (C) 3i (D)

(3) 3@,—,[ (A). (O ':,:FIT D) i4) E; = (A). (B) ﬂ‘R (D)



Options :

53622812685. 1
53622812686. 2
53622812687. 3
53622812688. 4

Question Number : 98 Question Id : 5362283257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Edgar Degas 1s known as

(A) Sculptor

(B Painter

(C) Musician

(D) Dramatist

Choose the correct answer from the option given below :

(1) {A) and (C) only (2) (A) and (D) only
(3) (B) and (C) only (4) (A) and (B) only
Options :

53622812689. 1
53622812690. 2
53622812691. 3
53622812692. 4

Question Number : 98 Question Id : 5362283257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  H=ww
(B) T
(C)  TEFn

fr9 3 ™ Fem § ¥ TEeE 39gE I 9

(1) =39 (A) 57 (C) (2) 3 (A) w1 (D)
(3) === (B) #117 (C) (4) Fae (A) W (B)
Options :

53622812689. 1
53622812690. 2
53622812691. 3
53622812692. 4

Question Number : 99 Question Id : 5362283258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose the artists who were associated with ‘Group 1890 from the following :

(A) Ambadas

(B) Kanwal Krishna

(O Raghav Kanena

(D) Jeram Patel

Choose the correct answer from the option given below :

(1) (A) and (B) only (2) (A). (B) and (D) only
(3) {(A). (C) and (D) only (4) (A) and (D) only
Options :

53622812693. 1
53622812694. 2
53622812695. 3
53622812696. 4

Question Number : 99 Question Id : 5362283258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



famferfige § @ g9 1890° 4 Teg TRl H AT ;
(A) T

(B) FaA FI

(C) T At

(D) w78 9eH

freAfafaa faseoat § 9 =8 0 9
1)  FEE (A) = B) (2) FE (A), (B) 31 (D)
(3) A= (A). (C) 3t D) (4) Fa= (A) =77 (D)

Options :

53622812693. 1
53622812694. 2
53622812695. 3
53622812696. 4

Question Number : 100 Question Id : 5362283259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose the artists who were associated with J.J School of Art, Bombay?

(A) J.Swaminathan

(B) M.V. Dhurandhar

(C) S.L. Haldankar

() Rawvi Shankar Rawal

Choose the correct answer from the option given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (B). (C) and (D) only (4) (A). (C) and (D) only
Options :

53622812697. 1
53622812698. 2
53622812699. 3
53622812700. 4

Question Number : 100 Question Id : 5362283259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  F.0E. EHEYE
B) THAL TH
(C)  TH.TH. Fraddt

(D) T I TEA

fefenaa T 3 @ T8 39 g
(1) F= (A) =1 (B) (2) = (B) #11 (O)
(3) = (B). (C) 7T (D) (4) Fa (A). (O) 3R (D)

Options :

53622812697. 1
53622812698. 2
53622812699. 3
53622812700. 4

Question Number : 101 Question Id : 5362283260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Aluminum has been alloyved with copper to

(A) Cool the alloy

(B) Resists corrosion

(C) Lower the melting point

(D)  Harden Physically

Choose the correct answer from the option given below :

(1) (A) and (B) only (2) (C)and (D) only
(3) (B) and (C) only {(4) (A)and (D) only
Options :

53622812701. 1
53622812702. 2
53622812703. 3
53622812704. 4

Question Number : 101 Question Id : 5362283260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e Ee R e e R e e R L A |

A) FaagsdE

B) T

(C)  7=a Tag 4= = TU9e = 917 Fl F5 F F o

fi f o fredt § & w4 o 9fE

(1) &9 (A) 371 (B) (2) Fa= (C) ¥ (D)

(3) == (B) # (C) (4) === (A) = (D)



Options :

53622812701. 1
53622812702. 2
53622812703. 3
53622812704. 4

Question Number : 102 Question Id : 5362283261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Joseph Beuys works involve

(&) Installation

(B) Evnironment

(C) Happenines

(D) Assemblage

Choose the correct answer from the option given below :

(1) (A) and (B) only (2) (C)and (D) only
(3) (B) and (C) only (4) (B)and (D) only
Options :

53622812705. 1
53622812706. 2
53622812707. 3
53622812708. 4

Question Number : 102 Question Id : 5362283261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FTEE s 1 FH § Fefaiea § 9 Fmn-gE e 27

(A)  TiETH
(B) T
(C) =z
(D)  =ETA

= o = et 3 ° e T g

(1)  =a (A) 317 (B) (2 == (C) ¥ (D)

3) A= (B) = (O) (4) FE= (B) 7 (D)

Options :

53622812705. 1
53622812706. 2
53622812707. 3
53622812708. 4

Question Number : 103 Question Id : 5362283262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Eclecticism in art 1s an attitude that permits
(A) Illusion

(B) A free choice

(C) Decoration

(D) Combination of styles

Choose the correct answer from the option given below :

(1) {A) and (B) only (2) (B)and (D) only
(3) (C) and (D) only (4) (B)and (C) only
Options :

53622812709. 1
53622812710. 2
53622812711. 3
53622812712. 4

Question Number : 103 Question Id : 5362283262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(D) St = FATE

Hr o T faeal @ H EEla IR S =6

(1) 3= (A) 31 (B) (2) F== (B) #1 (D)
(3) == (C) 57 (D) (4) = (B) 371 (C)

Options :

53622812709. 1
53622812710. 2
53622812711.3
53622812712. 4

Question Number : 104 Question Id : 5362283263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The signature stvle of S.Nandagopal's sculptures 1s

(A) Inspired from Greek Art
(B) A blend of folk and post-modern Art
(C) Inspired from tribal sculptures

(D) A blend of traditional and contemporary Art

Choose the correct answer from the option given below :

(1) {A) and (C) only (2) (B) and (C) only
(3) (C) and (D) only (4) (B) and (D) only
Options :

53622812713. 1
53622812714. 2
53622812715.3
53622812716. 4

Question Number : 104 Question Id : 5362283263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A) iR e | UfE 2
(B) I T I ATIHF Fen F mam 2
(C) =M™ qid 979 9 ufe 7

(D) U9 TR SEEEE Fe AT

feAfenad faweT § 9 Fartas 399 5 960

(1)  aa (A) 3 (C) (2) =& (B) #7 (D)

(3) == (C) 31 (D) (4) == (B) 31 (D)
Options :



53622812713. 1
53622812714. 2
53622812715. 3
53622812716. 4

Question Number : 105 Question Id : 5362283264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The eszsential and permanent aspects of Indian sculptures are

(A) Accentless distmbution
(B) Dvnamic echerence
(C) Plasticity

(D) Photo - realism

Choose the correct answer from the option given below :

(1) (A). (B) and (D) only (2) (B). (C) and (D) only
(3) {A), (B) and (C) only (4) (A). (C) and (D) only
Options :

53622812717. 1
53622812718. 2
53622812719. 3
53622812720. 4

Question Number : 105 Question Id : 5362283264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT i % sFar s s e #
(A)  ATEWEF EE

®) R

(€©) = (v

(D)  FREI-FALEE

faeAferfiaa fampel o @ Watla® IR 300 9

(1) === (A). (B) =t (D) (2) === (B), (C) #1 (D)

(3) === (A). (B) 3 (C) (4) == (A). (C) ¥ (D)

Options :

53622812717. 1
53622812718. 2
53622812719.3
53622812720. 4

Question Number : 106 Question Id : 5362283265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Following type faces are Sans-Serif type faces :
(A) Helvetica

(B) Baskerville

(C) Futura

(D) Times New Roman

Choose the correct answer from the option given below :

(1) (A) and (B) only (Z) (B)and (C) only
(3) (A) and (C) only (4) (C)and (D) only
Options :

53622812721. 1
53622812722.2
53622812723. 3
53622812724. 4

Question Number : 106 Question Id : 5362283265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



D) === = I

FeteTian el |5 B WAl 3 O
(1) =& (A) 37 (B) (2) Fa (B) @R (O)
(3) A= (A) #F (C) (4) === (C) @7 (D)

Options :

53622812721. 1
53622812722.2
53622812723.3
53622812724. 4

Question Number : 107 Question Id : 5362283266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Following fonts are Serif type faces

(A) Didot

(B) Grotesque

(C) Clarendon

(D) Georgla

Choose the correct answer from the option given below :

(1) (A). (B) and (C) only (2) (A). (C) and (D) only
(3) (B). (C) and (D) only (4) (A). (B) and (D) only
Options :

53622812725. 1
53622812726. 2
53622812727.3
53622812728. 4

Question Number : 107 Question Id : 5362283266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) fz=r=
(B) U

(D) ==

feafefiaa famet § @ =t 370 =4

(1) == (A), (B) 31 (C) (2) a7 (A). (C) 37 (D)

(3)  Fa (B). (C) 77 (D) (4) Fa= (A). (B) 3T (D)
Options :

53622812725. 1
53622812726. 2
53622812727. 3
53622812728. 4

Question Number : 108 Question Id : 5362283267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Deepika Padukone 1= the brands face of

(A)

(B)

(C)

(D)

Vistara Airlines

Oppo

Lux

Jharkhand Tourism

Choose the correct answer from the option given below :

(1)

(3)

Options :

(B). (C) and (D) only

(D). (A) and (B) only

53622812729. 1
53622812730. 2
53622812731.3
53622812732. 4

Question Number : 108 Question Id : 5362283267 Question Type : MCQ Option Shuffling

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(2)

(4)

{A). (B) and (C) only

(B). (C) and (D) only

: No Is Question



(A) Ta=m wsEaEe

B)  F

(D) FETs T

¥

FrAfertias femredt o @ wE 3 =4
(1)  Fa= (B). (O) R (D) (2) F (A), B) 3 (C)
(3) == (D), (A) ¥ (B) (4) A (B). (C) # (D)

Options :

53622812729. 1
53622812730. 2
53622812731.3
53622812732. 4

Question Number : 109 Question Id : 5362283268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Alyque Padamsee built the brands

(A) Liril girl in the waterfall

(B) Cherry Blossom Shoe Polish

(C) Lalitan for Surf

D) Har Ek Friend Zaroor:i Hota Hai

Choose the correct answer from the option given below :

(1) (A). (C) and (D) only (2) (B).(C) and (D) only
(3) (A). (B) and (C) only {4) (D). (A) and (B) only
Options :

53622812733 1
53622812734. 2
53622812735.3
53622812736. 4

Question Number : 109 Question Id : 5362283268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



oI YEHE] F EEnad #iE H 6S 9
(A) Teafest 7=t =9 2 aersA

(B) =i =EA T Wi

(C) =% ATl Afeqars

(D) * UF %S FEA B A

Frafatiaa et ﬂﬁﬂﬁwﬁﬁ .
(1) === (A). (C) Ik (D) (2) == (B), (C) 37 (D)
(3)  Faa (A). (B) 37 (C) (4) A (D). (A) 3R (B)

Options :

53622812733. 1
53622812734.2
53622812735.3
53622812736. 4

Question Number : 110 Question Id : 5362283269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Prahlad Kakkar is best known for his following work (ad films)

(A) Ye hi hai right choice

(B) Everest ka teelcha Lal

(C) I love you Rasna

(D) MRF Muscle Man

Choose the correct answer from the option given below :

(1) (A). (B) and (D) only (2) (B). (C) and (D) only
(3) (D), (A) and (B) only (4) (A), (B) and (C) only
Options :

53622812737. 1
53622812738. 2
53622812739. 3
53622812740. 4

Question Number : 110 Question Id : 5362283269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) ¥ F 2 TEe =y
(B)  TEREZ W AT
(C) =T 77 7 T

(D)  UH AW UF §HA 5

frfafiga fasedl d 9 991 3 gfv
(1)  Fa= (A). (B) #F (D) (2) F= (B). (C) #% (D)
(3) a4 (D). (A) 1 (B) (4) === (A), (B) 31 (C)

Options :

53622812737. 1
53622812738. 2
53622812739. 3
53622812740. 4

Question Number : 111 Question Id : 5362283270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Viscosity printing 1= done by using :
(A) Plastic Surface

(B) Rollers of different hardness
(C) Thinners of colour

(D)  Types of oils

Choose the correct answer from the option given below :

(1) (A). (B) and (D) only (2) (B).(C) and (D) only
(3) (A) and (B) only (4) (C)and (D) only
Options :

53622812741. 1
53622812742.2
53622812743. 3
53622812744. 4

Question Number : 111 Question Id : 5362283270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) TAI2F TaE 1

(B) Tty Farar aF T 1
(C) T =l Taetar =1

(D) fafie vm = 9= =

3 o 1 o 8 WA P

(1) === (A). (B) 3 (D) (2) & (B). (C)3 (D)
(3) = (A) 3 (B) (4) a= (C)F (D)
Options :

53622812741. 1
53622812742. 2
53622812743. 3
53622812744. 4

Question Number : 112 Question Id : 5362283271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which types of plate 1s used in Dry — point?

(A) Copper

(B) Zine

(C) Cardboard

(D) Acrylic

Choose the correct answer from the option given below :

(1) (A). (B) and (C) only (2) (A). (C) and (D) only
(3 (A). (B) and (D) only (4) (B).(C)and (D) only
Options :

53622812745. 1
53622812746. 2
53622812747. 3
53622812748. 4

Question Number : 112 Question Id : 5362283271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=% Uiz H fE TR i W w1 TEe T e e

(A) GIEL
(B) FAT
(C) 71 (Card Board)

. a

(D)  TEHEw

Fr= fe T foewent 9 O TR I g

(1) F= (A). B) T (C) (2 Fa (A), (C) 3 (D)
3)  F=4 (A). (B) 3 (D) (4) 4 (B). (C)3 (D)
Options :

53622812745. 1
53622812746. 2
53622812747. 3
53622812748. 4

Question Number : 113 Question Id : 5362283272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Mezzotint 15 done by using

(A) Squeeze

(B) Rocker

(C) Brayar

(D) Roulette

Choose the correct answer from the option given below

(1) (B) and (C) only (2) (C) and (D) only
(3) (A) and (B) only (4) (B)and (D) only
Options :

53622812749. 1
53622812750. 2
53622812751. 3
53622812752. 4

Question Number : 113 Question Id : 5362283272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



[ (s

(A)  wEEE

(B) LIER

(C)y =

(D) Tz

= 22 o fael 3 7w e g

1) =Fa= (B)3 (C) (2) == (C)a (D)

(3)  Fa (A) 3 (B) (4) = (B)F (D)
Options :

53622812749. 1
53622812750. 2
53622812751. 3
53622812752. 4

Question Number : 114 Question Id : 5362283273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the print makers mentioned below

(A) Paul Lingren

(B) Albrecht Durer

() Vladimir Tathin

(D) Marino Marini

Choose the correct answer from the option given below :

(1) (A) and (D) only (2) (B)and (C) only
(3) (A) and (B) only (4) (A). (B) and (D) only
Options :

53622812753. 1
53622812754. 2
53622812755. 3
53622812756. 4

Question Number : 114 Question Id : 5362283273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



E:|.1:|t:I.I§|'_‘I- HH@EWE& qr::"ﬂ‘_‘fa"l_-‘if i

(A) = femA

(D) = w5

T=TreTiEs el 3 | Wal 37 5

(1) 39 (A) 3 (D) (2) = (B) T (C)

(3) Fa=(A)3(B) (4) = (A), (B) 7 (D)
Options :

53622812753. 1
53622812754. 2
53622812755. 3
53622812756. 4

Question Number : 115 Question Id : 5362283274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who was associated with Indian printmaker Guild?

(A) Kavita Nayar

(B) Sushant Guha

(C) Dattatraya Apte

(D) Jagmohan Chopra

Choose the correct answer from the option given below :

(1) (A). (B) and (C) only (2) (A). (B) and (D) only
(3) (B). (C) and (D) only (4) (A), (C) and (D) only
Options :

53622812757. 1
53622812758. 2
53622812759. 3
53622812760. 4

Question Number : 115 Question Id : 5362283274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefafian § @ %9 Tz T fes & dagh 917
(A)  Fad TR

B)  HE T
(C)  =amE @2

{D} s IJ-E o 3 Ei#

FeteTiEn ool 3§ FaEras gel 39 9

(1)  Fa= (A). (B) 7 (C) (2) A (A). (B) T (D)

(3 =¥ (B). (O) 7 (D) 4 T @). (0T D)
Options :

53622812757. 1
53622812758. 2
53622812759. 3
53622812760. 4

Question Number : 116 Question Id : 5362283275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I With List IT?

List I List IT
(A)  Hindola Mahal (D Delhi
(B) Ehirki Masjid (II) Srinagar
(C) Ahamad ud Daula (IIT) Mandu
(D) Shah Hamdan (IV) Agra

Choose the correct answer from the options given below :

1 A -an, ® - @D, (C)—av), @) - di)
(2 (A—-@. ® - [dD. (C) - III), (D) — (IV)
(3)  (A)-@aV), B) - D, (C)— (D, (D) — (IIT)

(4) (A) — (IID). (B) — (@). (C) — IV). (D) — (D)

Options :

53622812761. 1
53622812762. 2
53622812763. 3
53622812764. 4

Question Number : 116 Question Id : 5362283275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



G =i 11
(A) fasmr gea o &E
(B) TaEsH1 Af an e
(C) #1792 3 ren (IIT) =73
(D) IE FHEH V) s
e feu fasreat 9 & =F I g

1) A -dD. B —O. (C)—aAV), (D) — 1L
2 @ -@ B -[aD. (C) — ). (D) — (IV)
(3  (A)-av), ® —an. (C) — (D). (D) — (IID)
(4)  (A)-—{mD. B)-@D.(C)—av). D) -1

Options :

53622812761. 1
53622812762. 2
53622812763. 3
53622812764. 4

Question Number : 117 Question Id : 5362283276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I With Last IT?

List1 Last IT
(&) The Night watch () Raphael
(B) The Calling of St. Mathew (II) Caravaggio
(C) The School of Athens (IIT) Giotto
(D)  The Flhight in to Egypt (IV) Rembrandt

Choose the correct answer from the options given below :

(1) (A) — (D). (B) — (ID. (C) — (III). (D) — (IV)
(2) (A) — (V). (B) — D). (C) — (@). (D) — (III)
(3) (A) — (III). (B) — (IV). (C) — (D). (D) — (T)
(4) (A) — (IV), (B) — (III). (C) — (ID). (D) — ()

Options :

53622812765. 1
53622812766. 2
53622812767.3
53622812768. 4

Question Number : 117 Question Id : 5362283276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o= I = == 11 = gafed it

o= I =1 11
(A) zZ mEzaN @O TEEA
(B) 7 ifer =1 @z 45 (D) Faf==sn
(C) 3 &= =% vig (IID) faeam
(D) = w2 37 3T IV) =0

= fou o foskeal 9 @ wE T g

(1) (A) — (D). (B) — D). (C) — (III). (D) — (IV)
(2) A —1V).(B) - ). (C) — @). (D) — (III)
(3) (A) — (II). (B) — (IV). (C) — D). (D) — (D)

(4) (&) — (IV), (B) — II). (C) — (I). (D) — (D)
Options :
53622812765. 1
53622812766. 2
53622812767. 3
53622812768. 4

Question Number : 118 Question Id : 5362283277 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I With Last IT?

ListI List II
Paimnting Artist
(&) Meghdoot (I} Manjit Bawa
(B) Gowardhan (II) Ramgopal Vijayvargia
(C) Rag Deepak (III) K.V. Haridasan
(D) Brahamsutra (IV) M.F. Hussain

Choose the correct answer from the options given below :

(1)  (A)-D. (B)—[dD. (C) — (II). (D) — AV)
(2) (A= AV). (B) — D). (C) — (II). (D) — (D)
(3)  (A)—ID. (B)— (). (C)— V). (D) — (IID)
(4) (&) — D). (B) — (II). (C) — D). (D) — AV)

Options :

53622812769. 1
53622812770. 2
53622812771. 3
53622812772. 4

Question Number : 118 Question Id : 5362283277 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I 31 gt 11 = gafed =it .

T 1 T 11
(&) () =@ =

(B) THH @D T T
(C) TTHET (1D =41, =EmA

(D) wwF @AV) ..
et faeT 9 5 T8 =70 94

(1) (&) — (@). (B) — (II). (C) — (IID). (D) — V)
(2) (A) — AV), (B) —(IID. (C) — D). (D) — (D)
(3) (A) — I). (B) — (I), (C) — AV). (D) — (III)
(4) (A) — II). (B) — (II), (C) — (D). (D) — (V)

Options :

53622812769. 1
53622812770. 2
53622812771.3
53622812772. 4

Question Number : 119 Question Id : 5362283278 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I With Liet IT?

List I Tast II
Painting Artist
(A) Dead or Alive (I) Georges Rouault
(B) Blue Cirecus (II) Marc Chagal
(C) Clown (IIT) Frans Hals
(D) Gipsy Girl (IV) Robert Motherwell

Choeose the correct answer from the options given below :

(1) (A) — (1), (B) — (III). (C) — (IV). (D) — (D)
(2) (A) — ), (B) — D). (C) — {II). (D) — (IV)
(3) (A) — V). (B) — (II). (C) — (I}, (D) — (1II)
(4) (A) — V). (B) — (II). (C) — (III). (D) —(I)

Options :

53622812773. 1
53622812774.2
53622812775. 3
53622812776. 4

Question Number : 119 Question Id : 5362283278 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tl I &1 g 11 & 51 gafe 1

AT Tt 11
Fid FHATHN
(A) T W eI (O S s
(B) ] 9y (1) HER e
(C) A (III) %™ g
(D) o) e (IV) TEd merad
frferfaa fawea o © gd 3@ 9fw

(1) (A) — (D), (B) — II). (C) — (IV). (D) — (D)
) (A) — (I). (B) — (I). (Cy— (IID). (D) — (IWV)
(3) (A) — (IV). (B) — (II). (C) — (I). (D) — (IIT)
(4) (A) — IV), (B) — (II). (C) — (IIT). (D) — (I}

Options :

53622812773. 1
53622812774.2
53622812775.3
53622812776. 4

Question Number : 120 Question Id : 5362283279 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I With Last I1?

ListI List IT
(A) Eduardo Paolozzi (I) The White Bride
(B) Victor Pasmore (II) Figure with raised arm
(C) Andrea Cascella (IIT) Japanese war God
(D)  Georg Baselitz (IV) Abstract in white. ochre and black

Choose the correct answer from the options given below :

(1) (A) — (IV). (B) — (D). (C) — (II). (D) — (11T}
(2)  (A)— (). (B) — (IV). (C) — (D. (D) — (ID)
(3) (A — (D, (B)—(1I), (C)— (II). (D) — (IV)
(4) (A) — (II). (B) — (III), (C) — (IV). (D) — (D)

Options :

53622812777. 1
53622812778. 2
53622812779. 3
53622812780. 4

Question Number : 120 Question Id : 5362283279 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T It 7= 11 = w19 gafed =+

EELl! A= 11
(A) TZATST AT O ==z s
(B) ooz ummn In fem &g s a
(C) ufezan Fmme (III) =re ar s
D) e e AV) TS T =, AiE U W
f=fefEs fawea 7 @ T8 =1 g

(1)  (A)—-aV). B)—@. (C)—(ID, (D) — (I1I)
(2) (&) —(ID). (B) - (IV). (C) — (D). (D) — (II)
(3) (A —@D. (B)—(dD. (C) — ). (D) — dV)
(4) (A —(ID. (B) - D). (C) — @V). (D) — (D

Options :

53622812777. 1
53622812778.2
53622812779. 3
53622812780. 4

Question Number : 121 Question Id : 5362283280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T With Last 117

List1 List IT
(A) Dhan Raj Bhagat (I) Cloud Gate
(B) K.G. Subramanyam (ITy Harvestor
(C) Amsh Kapoor (II) Eing of the Dark Chamber
(D) Ramkinkar Bayj (IV) Spirit of Work

Choose the correct answer from the options given below :

(1) (A) — (IID). (B) — (D). (C) — (II). (D) — (IV)
(2) (A) — (D). (B) — (ID). (C) — (IV). (D) — (I1I)
(3) (A) — (D). (B) — (IV). (C) — (1I). (D) —(I)

(4) (A) — @V), (B) — (1I). (C) — (I). (D) — (II)
Options :
53622812781. 1
53622812782.2
53622812783. 3
53622812784. 4

Question Number : 121 Question Id : 5362283280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o=t I =1 g1 11 F =19 gHfea 74

o= 1 == 1T
(A) g7 9 I F=EE e
(B) .. gEETH D) e
(C) = FE (III) 71 3TF 7 =1 =a7
(D) T V) forfz =% =%
fmtafEa et 7 o T8 =0 g

(1) (&) —{ID, (B)— (D). (C) — AI), (D) — (IV)
2 (A)-@. B -aD. () - av). D) - I
(3)  (4)-(D. (B)—IV). (C)— IID. (D) — (D
(4) (&) -@aV), (B) - ID, (C)— (D). (D) — dT)

Options :

53622812781. 1
53622812782.2
53622812783. 3
53622812784. 4

Question Number : 122 Question Id : 5362283281 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the design movements with their respective ploneers fizures

List I List IT
Design movements Pioneers
(A) The Arts and Crafts Movement (I)  William Morris
(B) Art Nouveau Movement (IT) Arthur H. Mackmurdo
(C) Bauhaus Movement (IIT) Walter Gropius
(D)  Japonisme (IV) M.C. Perry

Choose the correct answer from the options given below :

(1) (A) — (IV). (B) — (D). (C) — (II), (D) — (I1T)
(2) (A) — (D). (B) — (ID. (C) — (III). (D) — (IV)
(3) (A) — D), (B) — (). (C) — dV). (D) — (D)
(4) (A) — ID. (B) — (IV), (C) — (D). (D) — (1D

Options :

53622812785. 1
53622812786. 2
53622812787.3
53622812788. 4

Question Number : 122 Question Id : 5362283281 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt I i =t I % 19 gHfed

e 1 == 1T
(A) e 3R Py AR (3 AeE us weE (1) fafeem wiE
(B) 73 Tl AR (2H 49 gIH) (ID =T v, Sgst
(C) =iem WA (III) =re=x Wfea
(D) I (IV) umE.
TAeeAiEs faedl 5 | = 3T 9T

(1) (&) — AV). (B) — (D). (C) — (ID). (D) — (II)
(2) (&) — @), (B) — D). (C) — (III). (D) — (IV)
(3) (A) — @I). (B) — (IID). (C) — @AV). (D) — (D
(4) (&) — (III). (B) — (IV), (C) — (D). (D) — (ID)

Options :

53622812785. 1
53622812786. 2
53622812787.3
53622812788. 4

Question Number : 123 Question Id : 5362283282 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T wath TLast IT

ListI List IT
Slogans Products
(A) The taste of India (I} Pep=1
(B) Reclaim your life (I) Air Deccan
(C) Yehi hain right choice baby (III) Amul
(D) Simplify (IV) Tata Safar

Choose the correct answer from the options given below :

(1) (A - @OV). (B) — (IID. (C) — (II). (D) — (1)
(2) (A) — (III). (B) — (IV). (C) — (I). (D) — (IL)
(3) (A) — (I}, (B) — (III), (C) — (IV). (D) — (D)
(4) (A) — (@), (B) — ). (C) — (III), (D) — (IV)

Options :

53622812789. 1
53622812790. 2
53622812791.3
53622812792. 4

Question Number : 123 Question Id : 5362283282 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tt 1 =1 =it 11 = 19 FHied

et 1 o I
(&) =7 A e @M T
(B) fem 30 7T () ©sR 3%
(C) =& % T2 =y W (1) =9
(D) Taefees IV) =z gEE

fAfetad fwea O 9 #8397 9H0 :

(1) (A) — (IV). (B) — (III). (C) — (II). (D) — (D)
(2) (A) — (III). (B) — (IV). (C) — (I). (D) — (II)
(3) (A) — (ID), (B) — (IID), (C) — (IV). (D) — (D)
(4) (A) — (@), (B) — (D). (C) — (IID). (D) — (IV)

Options :

53622812789. 1
53622812790. 2
53622812791.3
53622812792. 4

Question Number : 124 Question Id : 5362283283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I Last IT
Artist Technique
(A)  Albrecht Durer (I) Dry - point
(B) Rembrandt (IT) Viscosity
(C) Hokusail (III) Wood engraving
(D) Stanley William Hayter (IV) Woodblock print

Choose the correct answer from the options given below :

(1) (A) — (1I). (B) — (IV). (C) — (II). (D) — (D)
(2) (A) — (D), (B) — (ID. (C) — (IV). (D) — (I1I)
(3) (A) — (I1D). (B) — (D), (C) — (IV). (D) — (ID)
(4) (A) — (IV). (B) — (III), (C) — (I). (D) — (1)

Options :

53622812793. 1
53622812794. 2
53622812795.3
53622812796. 4

Question Number : 124 Question Id : 5362283283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T I 1 gt 11§ gafed i

o= I = 11
(A) ¥ = T @O FE-TE
(B) =i (1D fa=srias
(©) wrFEE (ITT) =12 Sehrof
(D) Tt o= 73 (IV) =8 &=F e

= fo0 o foehedl @ & TR 39 A ;

(1) (A) — (ID. (B) — (IV), (C) — (IID), (D) — (T)
(2) (A) — (D). (B) — D). (C) — (IV), (D) — (III)
(3) (A) — I, (B) — (I), (C) — (IV). (D) — (ID)

(4) (A) — (IV). (B) — (I1II), (C) —(I). (D) — (1)
Options :
53622812793. 1
53622812794. 2
53622812795.3
53622812796. 4

Question Number : 125 Question Id : 5362283284 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Matech Last I wath Last IT

List I List IT

Artist Techmque
(A) Sanatkar (1) Etching
(B) Krishna Reddy (1) Lino Cut
(C) Mukul Chandra Dey (1) Wood intaglio
(D) Chittaprasad (Iv) Viscosity

Choose the correct answer from the options given below :

(1) (A) — (III). (B) — (IV). (C) — (D). (D) — (1)
(2) (A) — (IV). (B) — (D, (C) — (1), (D) — (III)
3) (A —(I). B)— (D. (C) — AID). (D) — AV)
(4) (A) — (D), (B) — (D). (C) — (IV). (D) — (III)

Options :

53622812797. 1
53622812798. 2
53622812799. 3
53622812800. 4

Question Number : 125 Question Id : 5362283284 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tl I ot gl 11 | gafas fifu .

e 1 el 11
AT ek 1o
(A)  HAAHL @ ufm
(B) & (&l 1D T %2
(C) TFHFdA 95 2 A1) 93 T2heas
(D) fas wHTE (IV) ferepifadt
frfafas fasedl 6 5 w8 3w =4

(1) (A) — (III), (B) — (IV). (C) — (I), (D) — (1)
(2) (A) — (IV). (B) — (I). (C) — (II), (D) — (III)
(3) (A) — D). (B) — (). (C) — (TID), (D) — (AV)
(4) (A)— (D), (B) — (D), (C) — (IV). (D) — (A1)

Options :

53622812797. 1
53622812798. 2
53622812799. 3
53622812800. 4

Question Number : 126 Question Id : 5362283285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose correct chronology of the sculpture of Michelangelo?

(A) Dawvid

(B) Pieta

() Rondanimi Pieta

(I Madona of Stairs

Choose the correct answer from the option given below :

(1) (A ®). (C). D) (2) (D). (B). (A). (C)
(3) (B). (C). (A). (D) (4) (C), (A). (B). (D)
Options :

53622812801. 1
53622812802. 2
53622812803. 3
53622812804. 4

Question Number : 126 Question Id : 5362283285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A =
B) T
(C) T Towa

(D)  HSET 31TF I

= o T faeat 9 O wE I g

(1)  (A). (B). (C). (D) (2) (D). (B). (A4), (C)
(3) (B). (C). (A). (D) (4) (C), (A). (B). (D)
Options :

53622812801. 1
53622812802. 2
53622812803. 3
53622812804. 4

Question Number : 127 Question Id : 5362283286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Choose correct chronology of temples of Khajuraho

{(A) Kandariva Mahadeva

(B) Adinath

(C) Lakshman

(D) Chausanth Yogim

Choose the correct answer from the option ziven below :

(1) (A B). (C). (D) (2) (B). (A). (D). (C)
(3) (D). (A). (C). (B) (4) (D). (O). (B). (A)
Options :

53622812805. 1
53622812806. 2
53622812807. 3
53622812808. 4

Question Number : 127 Question Id : 5362283286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gAE e efataa afst = @8 Femws gh
(A)  FzfEn mEEa

(B) ST

(C) =Fmm

I:D} ﬁ . "‘. .

Hr= fer ma foreal 8§ TE I g

(1) (A). (B). (C). (D) (2) (B). (A). (D), (C)
(3) (D). (A (O). (B) (4) (D). (C). (B). (A)
Options :

53622812805. 1
53622812806. 2
53622812807. 3
53622812808. 4

Question Number : 128 Question Id : 5362283287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Select the correct Chronological sequence of artists

(A) Henr Matisse

(B) Paul Klee

(C) John Miro

(D) (Georges Braque

Choose the correct answer from the option given below :

(1) (A). (B), (C), (D) (2) (A). B). (D). (C)
(3) (A). (C). (D). (B) (4) (B), (D). (A). (C)
Options :

53622812809. 1
53622812810. 2
53622812811. 3
53622812812. 4

Question Number : 128 Question Id : 5362283287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FATHA T TRl HIeTHE F AR § T

(A) = AaE

(C) =

(D) F= TF

Hr= {23 7 fasedt 9 | "9 3 g

(1) (A). (B). (C). (D) (2) (A (B). (D). (C)

(3) (A). (C). (D). (B) (4) (B). D). (A). (C)
Options :

53622812809. 1
53622812810. 2
53622812811. 3
53622812812. 4

Question Number : 129 Question Id : 5362283288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Select the correct chronological sequence of artists.

(A) Mark Rothko

(B) Eobert Motherwell

(C) Jackszon Pollock

(D) Andy Warhol

Choose the correct answer from the option given below :

(1)  A). 3. (). D) (2) (O). (D). (B), (A)
(3) (A). (C). (B). (D) (4) (D). (B). (A). (C)
Options :

53622812813. 1
53622812814.2
53622812815.3
53622812816. 4

Question Number : 129 Question Id : 5362283288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) T T
B) T AEEE
(C) A T

(D) U= TS

Hr= fa m Rl d 3 wE I g

(1) (A (B).(C). D (2) (C) (D). (B). (A)
(3) (A, (C). (B). (D) (4) (D). (B). (A). (C)
Options :

53622812813. 1
53622812814. 2
53622812815. 3
53622812816. 4

Question Number : 130 Question Id : 5362283289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify correct chronological order of the following sculpture
(A)  Ashoka at Kalinga

(B) Egg Bride

(C) Global Agony

(D) Vanshnm

Choose the correct answer from the option given below :

(1)  (A). (B). (C). (D) (2)  (B). (A). (D), (C)
(3) (C). (D). (B). (A4) (4) (D). (A). (C). (B)
Options :

53622812817. 1
53622812818. 2
53622812819. 3
53622812820. 4

Question Number : 130 Question Id : 5362283289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  STTIET U2 Fie
(B) TIEEES
(C)  T&m=A T

D) =3

fafeias FFeT 1 5 W I ge

(1) (&), (B) (C). (D) (2) (B). A). D), ©)
(3) (C). (D). (B). (A) (4) (D). (A). (C). (B)
Options :

53622812817. 1
53622812818. 2
53622812819. 3
53622812820. 4

Question Number : 131 Question Id : 5362283290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Select the correct chronological sequence of artists

(A) Duane Han=zon

(B) Michelangelo

(C) Donatello

(D) David Smith

Choose the correct answer from the option given below :

(1) (A). (B), (D). (C) (2) (B). (D). (A). (C)
(3) (D). (A). (O). (B) (4) (C). (B). (D), (A)
Options :

53622812821.1
53622812822.2
53622812823. 3
53622812824. 4

Question Number : 131 Question Id : 5362283290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



D) =fa=s fow

(1) (A). (B). (D). (C) (2) (B). (D). (A), (C)

(3) (D). A. (0. (B) (4) (C). (B). (D). (&)
Options :

53622812821. 1
53622812822.2
53622812823. 3
53622812824. 4

Question Number : 132 Question Id : 5362283291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the media of advertising in order of their evolution.

(A) Newspaper

(B) Television

(C) Online

(D) Outdoor and transit

Choose the correct answer from the option given below :

(1) (B). (A), (D). (C) (2) (A (B). (C), (D)
(3) (A), (D). (B). (C) (4) (C). (A), (D). (B)
Options :

53622812825. 1
53622812826. 2
53622812827. 3
53622812828. 4

Question Number : 132 Question Id : 5362283291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Teteriad T JressT i 39 F0 ST % FEET S
(A) HHERT T

B) 2fefas

(C) #1 =z

(D)  =TEl T gEITEA

i fe3 = fedl @ @ = = g

(1) (B A). D). () (2) (A). (B).(0C). (D)
(3) (A). (D). (B). (C) (4) (C). (A). (D). (B)
Options :

53622812825. 1
53622812826. 2
53622812827. 3
53622812828. 4

Question Number : 133 Question Id : 5362283292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the fonts in sequence of their evolution through time
(A) Franklin Gothic

(B) Didot

(C) Garamond

(D)  Baskerville

Choose the correct answer from the option given below :

(1) (A B). (C). (D) (2) (C). (D), (B). (A)
(3) (B). (C). (D). (A) (4) (D). (B). (A). (C)
Options :

53622812829. 1
53622812830. 2
53622812831.3
53622812832. 4

Question Number : 133 Question Id : 5362283292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THeATAEd =2 F1 39 HAF =GHE F FAEET T

(A) TR TAE

B) fz==r
(C)  TmHE
(D) =R

Hr= o2 faweal 4 @ =R I g6

(1) (A). B (©). D) 2y (C). (D). (B). (A)

(3) (B). (C). (D). (A) (4) (D). (B). (A), (C)



Options :

53622812829. 1
53622812830. 2
53622812831. 3
53622812832. 4

Question Number : 134 Question Id : 5362283293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Select the correct sequence of steps in lithography
(A)  Application of Gum

(B) Surface cleaning

(C) Grinding

(D} Drawing

Choose the correct answer from the option given below :

(1) (C). (A), (D). (B) (2) (A). (B). (D), (C)
(3) (D), (C). (A). (B) (4)  (C), (B). (D). (A)
Options :

53622812833. 1
53622812834. 2
53622812835. 3
53622812836. 4

Question Number : 134 Question Id : 5362283293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



D)  HAREA

Hr= T = Tt 8§ W I g

(1) (C). (A), (D). (B) (2) (A). (B). (D), (C)

(3) (D). (C). (A). (B) 4) (C). (B). D), (A)

Options :

53622812833. 1
53622812834. 2
53622812835. 3
53622812836. 4

Question Number : 135 Question Id : 5362283294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Select the chronological sequence of Printmaking

(A)  Wood engraving

(B) Metal engraving

(C)  Wood Block printing

(D) Screen printing

Choose the correct answer from the option given below :

(1) (B). (A), (C). (D) (2) (0. (A). (B), (D)
(3) (A), (B). (D). () (4) (C). (D). (B). (A)
Options :

53622812837. 1
53622812838. 2
53622812839. 3
53622812840. 4

Question Number : 135 Question Id : 5362283294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) = IE
B) g TEH
(C) =g w=m ffe

(D)  =hE Tt

91 for 7 Fret A B WA = R

(1) (B). (A), (C). (D) (2 (C). (A). (B). (D)
(3) (A), (B). (D). (C) (4) (C). (D). (B). (A)
Options :

53622812837. 1
53622812838. 2
53622812839. 3
53622812840. 4

Question Number : 136 Question Id : 5362283295 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Kailash Nath temple at Ellora 1s monolithic rock cut temple carved out of
a hive rocky hall.

Statement (IT) : Carving of this architectural grandicse started In reverse order of

construction from top towards bottom and from back ward to forward.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) 1s correct but Statement (II) 1s false
(4) Statement (I) 1z incorrect but Statement (IT) 1s true

Options :

53622812841. 1
53622812842.2
53622812843.3
53622812844. 4

Question Number : 136 Question Id : 5362283295 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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ST ®UAT F AT | A fawed 8§ @85 3 =9

(1) =9 () %0 (D) 241 =48 2
@  F @ o (1) 3 TeE 7
(3)  wud (D 2, g FuF (ID T #

(4) =9 (1) =50 7, o w9a (D) =71 7

Options :

53622812841. 1
53622812842.2
53622812843.3
53622812844. 4

Question Number : 137 Question Id : 5362283296 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Beauty is absolutely related to human instinet of carnal desire.

Statement (II) : Because, satisfaction of human Psyche as a whole, 1s never concerned with

the phenomenon.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (II} are correct

(2) Both Statement (I) and Statement (II) are incorrect

(3) Statement (I) is correct but Statement (II) 1s incorrect
(4) Statement (I} 1s incorrect but Statement (II) 1s correct
Options :

53622812845. 1
53622812846. 2
53622812847. 3
53622812848. 4

Question Number : 137 Question Id : 5362283296 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(4) = (D) =E T 7, T e (1D &9 7
Options :
53622812845. 1
53622812846. 2

53622812847. 3
53622812848. 4

Question Number : 138 Question Id : 5362283297 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Auguste Rodin admired Michelangelo's unfinished sculptures

Statement (II) : He deliberately left many of his marble carvings unfinished.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are falze
(3) Statement (I) 1 correct but Statement (II) 1s false

(4) Statement (I) 1s incorrect but Statement (II) 1s ture



Options :

53622812849. 1
53622812850. 2
53622812851.3
53622812852. 4

Question Number : 138 Question Id : 5362283297 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 21 Fye faw T F

Fa (I):  3TTE Tie TEsheTiael 1 37900 gfagi =T T9EE o1

w0 (I0) : 397 1 T 1 3 19 1 TEEEE S0 39Ts 2|

ST FYA F AT B ARG fawed 8 O 7R I 9
(1) =9 (D) 517 (1D =41 =21 2

(2) w9 (D @0 (ID) 241 T4 7

(3) F97 () T3 2, g o= (0D 79 2

(4) T (D) w53 2, g T A 77 7

Options :

53622812849. 1
53622812850. 2
53622812851.3
53622812852. 4

Question Number : 139 Question Id : 5362283298 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements. one labeled as Assertion (A) and the other as Reason (R)

Assertion (A)

Reasons (R)

The field of Children's book 1llustration does not continue any longer to be
a rich area to Showcase technical and Stylistic experimentation in

drawing.

Artists from around the world have drawn on their own Cultural
traditions in thewr work., which adds pictorial comment to an author's

words.

In the light of above statements. choose the most appropriate answer from the option given

below.

(1) Both (A) and (R) are correct and (R) 18 the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)

(3) (A) 18 correct, but (R) 1s not correct

(4) (4) 1s not correct. but (R) 1s correct

Options :

53622812853. 1
53622812854.2
53622812855.3
53622812856. 4

Question Number : 139 Question Id : 5362283298 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812853. 1
53622812854. 2
53622812855.3
53622812856. 4

Question Number : 140 Question Id : 5362283299 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : In aquatint print making process, the tonal effect 15 obtained by use of

resin powder.

Statement (IT) : Because resin powder 18 not acid-resistant which allows biting the plate.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (1I) are true

(2) Both Statement (I) and Statement (II) are falze

(3) Statement (I) 1s correct but Statement (II) 1s false
(4) Statement (I) is incorrect but Statement (I1) 1s ture

Options :

53622812857. 1
53622812858. 2
53622812859. 3
53622812860. 4

Question Number : 140 Question Id : 5362283299 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622812857. 1
53622812858. 2
53622812859. 3
53622812860. 4

Sub-Section Number : 2
Sub-Section Id : 536228129
Question Shuffling Allowed : Yes

Question Id : 5362283300 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)

Question Label : Comprehension



Observe the painting / Sculpture / Graphics shown herewith and answer them carefully as
per the illustration.

Sub questions

Question Number : 141 Question Id : 5362283301 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 18 the title of the Painting?

(1) Affection (2) Love for Emilie
(3) Golden Epoch (4) The Kiss
Options :

53622812861. 1
53622812862. 2
53622812863. 3
53622812864. 4

Question Number : 142 Question Id : 5362283302 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

What i1s Gustav Klimpt's Nationality?

(1) Russian (2) Austran
(3) Egyptian (4) Latin American
Options :

53622812865. 1
53622812866. 2
53622812867. 3
53622812868. 4

Question Number : 143 Question Id : 5362283303 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 15 the Medium of Painting?

(1) Colour Engraving (2) Soft Pastel on paper
(3) Acrylic on Canvas (4) 01l on Canvas
Options :

53622812869. 1
53622812870. 2
53622812871. 3
53622812872. 4

Question Number : 144 Question Id : 5362283304 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s Gustav Klimpt Style?

(1) Art Nouveau (2) Symbolism
(3) Vienna Secession {(4) Cubism
Options :

53622812873. 1
53622812874. 2
53622812875. 3
53622812876. 4

Question Number : 145 Question Id : 5362283305 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Gustav Klimpt was influenced by

(1) Albrecht Durer (2) Egon Schiele
(3) Pablo Picasso (4) Auguste Rodin
Options :

53622812877. 1
53622812878. 2
53622812879. 3
53622812880. 4

Question Id : 5362283300 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

ffatas 9t /gfd o = %1 aEae =5 AT #3199 % 399890 9f5E 53 3

Sub questions



Question Number : 141 Question Id : 5362283301 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=0 TTeT = 9= I9E

(1) =75 (2) =& B UHE
(3) e T (4 =
Options :

53622812861. 1
53622812862. 2
53622812863. 3
53622812864. 4

Question Number : 142 Question Id : 5362283302 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1 == (2) sfEaE
(3) (4) =R SR

Options :

53622812865. 1
53622812866. 2
53622812867. 3
53622812868. 4

Question Number : 143 Question Id : 5362283303 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=4 i = ey = 2 7

(1) 1 skl (2) FH W TE T (A T
(3) FHEE W UfEe (4) = T
Options :

53622812869. 1
53622812870. 2
53622812871.3
53622812872. 4

Question Number : 144 Question Id : 5362283304 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T T i I A i

(1) =3 Fen (3372 520) (2) vdEaE
(3) o wemm (4) =R (FgE)
Options :

53622812873. 1
53622812874.2
53622812875. 3
53622812876. 4

Question Number : 145 Question Id : 5362283305 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T T FeieiEa § 5 3 wag ot

(1) T (2) ==

(3) O fammmE (4) T TR
Options :

53622812877. 1
53622812878. 2
53622812879. 3
53622812880. 4

Sub-Section Number : 3
Sub-Section Id : 536228130
Question Shuffling Allowed : Yes

Question Id : 5362283306 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Observe the Painting Sculpture / Graphics shown herewith and answer the questions as per
the 1llustration.

Sub questions

Question Number : 146 Question Id : 5362283307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Sculpture 15 known as

(1) Anant Vasudeva (2) Vishnu Anantashayi
(3) Creation of Universe (4) Hiranyagarbha
Options :

53622812881. 1
53622812882. 2
53622812883. 3
53622812884. 4

Question Number : 147 Question Id : 5362283308 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Where 1s the sculpture located?

(1) Kailash Temple. Ellora

(2) Cave 27. Ajanta

(3) Dashavatar Temple - Deogarh

(4) Udaigir: — Vidisha

Options :

53622812885. 1
53622812886. 2
53622812887.3
53622812888. 4

Question Number : 148 Question Id : 5362283309 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the architecture style of the temple?

(1) Nagar (2) Dravidian
(3) Vesar (4) Indigenous
Options :

53622812889. 1
53622812890. 2
53622812891. 3
53622812892. 4

Question Number : 149 Question Id : 5362283310 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which period of Indian history does this temple belong to

(1) 325 AD (2) 425 AD
{3) 400 AD (4) 376 AD
Options :

53622812893. 1
53622812894. 2



53622812895. 3
53622812896. 4

Question Number : 150 Question Id : 5362283311 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the figures at the Bottom of the Panel
(1) Pandava and Draupadi

(2) Vishnu in Human Form

(3 Attendants of Vishnu

(4) Avudhpurushas and Demons
Options :
53622812897. 1
53622812898. 2
53622812899. 3
53622812900. 4

Question Id : 5362283306 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362283307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7F g FE = 0 JE A7

(1) 37 amea (2) T s
(3)  wmmUs 1 T=AT (4) Teroad
Options :

53622812881. 1
53622812882. 2
53622812883.3
53622812884. 4

Question Number : 147 Question Id : 5362283308 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) e \fsT, T

(2) T 27, A=

(3)  =9IEAT H@iE — ==

(4) =z — R
Options :

53622812885. 1
53622812886. 2
53622812887. 3
53622812888. 4

Question Number : 148 Question Id : 5362283309 Question Type :
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) Bk (2) zEs
(3) == (4) =T
Options :

53622812889. 1
53622812890. 2
53622812891. 3
53622812892. 4

Question Number : 149 Question Id : 5362283310 Question Type :
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tz Hfer e =faem % 6 = O TEf 27

[ [

(1) 325 3ET (2) 425
(3) 400 = (4) 376
Options :

53622812893. 1

MCQ Option Shuffling : No Is Question

MCQ Option Shuffling : No Is Question



53622812894. 2
53622812895. 3
53622812896. 4

Question Number : 150 Question Id : 5362283311 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

{1} E-:.r"] 3:HT F‘,. Jr_":

(2) " = F fEey

(3) fau =% ufem

(4) Y Y T 9
Options :
53622812897. 1
53622812898. 2

53622812899. 3
53622812900. 4



